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Multiplication

Tricks
for numbers

Oto 9




Table of 2

T 3 Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

2

4

6

8

0

¥~ S Row A (2,4,6,8,0)

2

4

6

8

0

~— 3 Row B (2,4,6,8,0)

Step 2: Unit Place (Right Side) - Write number 2,4,6,8,0 in each box

0 20

410 6

0 81

O 3 Row A
0 in four boxes &

2

4

6

8

O number 1 in last

Step 3: Tens Place (Left Side)- Write O's in first four boxes and 1 in fifth box of Row A

2x1=2
2x2=4
2x3=6
2x4=8
2x5=10
2x6=12
2x7=14
2x8=16
2x9=18

2x10=20

0 2

0 4

0 6

0 8

Row B
1 O 1in four boxes &

1 2

1 4

1 6

1 8

number 2 in last

2 0~

Step 4: Tens Place (Left Side) - Write 1's in first four boxes
and 2 in fifth box of Row B

4

6

8

12

14

16

18

Finally we get table of 2!




Do It Yourself |
Table of 2

T 3 Row A

\

3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

¥~ S Row A (2,4,6,8,0)

~— 3 Row B (2,4,6,8,0)

Step 2: Unit Place (Right Side) - Write number 2,4,6,8,0 in each box

3 Row A

0 in four boxes &
number 1 in last

Step 3: Tens Place (Left Side)- Write O's in first four boxes and 1 in fifth box of Row A

Row B
1in four boxes &
number 2 in last

2x 1= ~

2 X 2 — Step 4: Tens Place (Left Side) - Write 1's in first four boxes
and 2 in fifth box of Row B
2x3=

2x4=
2X35=
2X6=
2x7=
2X8=
2x9=
2x10=




Do It Yourself |
Table of 2




Table of 3

~ 3 Row A

¥ > Row B

~ 3 Row C

3 6 9
2 5 8
1 2 7

321 6,54 987

Step 2: Unit Place (Right Side) - Starting from Bottom-Left Box
write numbers 1 to 9

0 0 0 9 >RwA-000
1 211 5|1 8¢ RowB-11t
2 2 2 73 Rowc-222
Step 3: Tens Place (Left Side)- Write O's in Row A, 1's in Row B, & 2's in Row C

3x1=3

3x2=6

3x3=9

3x4=12 2|1 5)1 87"

3x5=15 3 0

3x6=18 Step 4: Draw one more box to write number 30

3x7=21

3x8=24 3069 |12]15

3x9=27 18 | 21 | 24 | 27 | 30

3x10=30 Finally we get table of 3!




Do It Yi If!
Table of 3

~ 3 Row A

¥ > Row B

~ 3 Row C

Step 1: Draw 3 Boxes in 3 Rows (Total 9 Boxes)

321 6,54 987

Step 2: Unit Place (Right Side) - Starting from Bottom-Left Box
write numbers 1 to 9

»— > Row A-0,0,0

¥~ > RowB-111

— S RowC-222

Step 3: Tens Place (Left Side)- Write O's in Row A, 1's in Row B, & 2's in Row C

3x1=

3x2=

3 A 3 B Box for 30
3x4= N\
3x5= y
I3Ix6= Step 4: Draw one more box to write number 30
3xT7=

3x8=

3x9=

3x10= Finally we get table of 3!




Do It Yourself |
Table of 3




Table of 4

. 8
/\/\ /5 N\ NN ——s Mountain 1
2 6 0
4 8
VA VAN 7N Y —
Mountain 2
2 6 0
Step 1: Draw 2 Mountains or 2 M's Step 2: Write 2,4,6,8,0 in nodes of each mountain
Row A: Write 0's 0 0
Row B: Write I's except last < 1 1 2/_\> Write number 2 instead of 1
Row C: Write 2's 2 2
Row D: Write 3's except last : 3 3 4/_\ Write number 4 instead of 3
4x1=4
Step 3: Write O's in Row A, 2's in Row B except in last (write 2 there) .

2's inRow C, & 3's in Row D except in last (write 4 there) - X 2= 8
4x3=12
4x4=16
4x5=20

8 |12 | 16 | 20
4x6=24

28 | 32 | 36 | 40

Finally we get table of 4! 4x 7=28
4x8=32
4x9=36

4x10=40




Do It Yi If!
Table of 4

Step 1: Draw 2 Mountains or 2 M's Step 2: Write 2,4,6,8,0 in nodes of each mountain

J/&\¥/&\;—»
M/ > Write number 4 instead of 3
4x1=

Step 3: Write O's in Row A, 2's in Row B except in last (write 2 there) o
2'sin Row C, & 3's in Row D except in last (write 4 there) 4 X 2 -

Row A: Write 0's

Row B: Write 1's except last = Write number 2 instead of 1

Row C: Write 2's

T

Row D: Write 3's except last <

4x3=
4x4=
4x5=
4x6=
4x7=
4x 8=
4x9=
4x10=

Finally we get table of 4!




Table of 4

Do It Yourself'!




Table of 5

T S Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

s| ol s| o 53

B5s and Os in Boxes

0| 5| 0 5 0/

Step 2: Unit Place (Right Side) - Write series 5 & O in boxes

05/1 01 52 0[2 5/

0112233445

30[35/40[4 5[50/

Step 3: Tens Place (Left Side)- Write series "0 11223344 5" in left side of boxes

5 |10 | 15 ] 20 | 25

Sx1=5 30 | 35| 40 | 45 | 50
5x2=10 Finally we get table of 5 !
5x3=15

5x4=20

5x5=25 ()
5x6=30

5x7=35

5x8=40 &L
5x9=45

5x10=50



Do It Yourself |
Table of 5

T S Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

)

B5s and Os in Boxes

J

Step 2: Unit Place (Right Side) - Write series 5 & O in boxes

N

0112233445

J

Step 3: Tens Place (Left Side)- Write series "0 11223344 5" in left side of boxes

S5x1=

5x2= Finally we get table of 5!

5x3=
5x4=
5x5= @ £

5x6=

S5x7=
5x8= A\
5x9=
5x10=




Do It Yourself'!

Table of 5




Table of 6

Grid 1 Grid 2
¥ > Row A

¥ > Row B

~ 3 Row C

Step 1: Draw TWO 6rids with 3 Boxes in 3 Rows (Total 18 Boxes)

Grid 1 Grid 2

3 6 9 3 6 9
2 5 8 2 5 8
1 4 7 1 4 7
J
321 654 987 3217 654 987

Step 2: Unit Place (Right Side) - Starting from Bottom-Left Box
write numbers 1 to 9. Repeat this in both Grids.

6rid 1 Grid 2

0 3|10 6|0 9F—Rrwa000 |3 3|3 6[3 O Rwbd-333
1 211 5011 8F—emeitt |4 0|4 5|4 3 rowe 444
2 1|2 4|2 7r>rmc-222 |5 ||5 4|5 7 >RwE-555
Step 3: Tens Place (Left Side)- Write O's in Row A, 1's in Row B, 2's in Row C,
3'sinRow D, 4'sinRow E, & 5's in Row F
Gridt  erd2 o
6x2=12
03[0 6/0 9 3 33 6/309
Box for 30 Box for 60 6x4=24
1 2(1 5|1 8 4 214 514 8 6x5=30
/A\ /A\ 6x6=36
2 112 412 7(3 0 5 115 415 7(6 0 6x7=42
N N N / 6x8=48
6x9=54
Step 4: Draw one more box to write number 30 in Grid 1 & 60 in Grid 2 6x10=60

Grid 2

6 | 12 | 18 | 24 | 30
36 | 42 | 48 | 54 | 60

Finally we get table of 6 !

Step 5: Circle 2nd, 4th, 6th, 8th and 10th Box of each Grid to get Table of 6




Do It Yourself |
Table of 6

Grid 1 Grid 2

¥~ 3 Row A

¥ > Row B

~ 3 Row C

Step 1: Draw TWO 6rids with 3 Boxes in 3 Rows (Total 18 Boxes)

Grid 1 Grid 2

321 654 9.87 321 654 9,87

Step 2: Unit Place (Right Side) - Starting from Bottom-Left Box
write numbers 1 to 9. Repeat this in both Grids.

6rid 1 Grid 2

~— 3 Row A- 0,00 3 Row D-3,3,3
¥ 3 RowB-111 P 3 RowE-444
— S RowC-222 ¥ S RowF-555

Step 3: Tens Place (Left Side)- Write O's in Row A, 1's in Row B, 2's in Row C,
3'sinRow D, 4'sinRow E, & 5's in Row F
Grid 1 Grid 2 6x 1=

Box for 30 Box for 60 6x4=

~ v N 6x6=

N / N / 6x8=

Step 4: Draw one more box to write number 30 in Grid 1 & 60 in Grid 2 6x10=

Grid 1 Grid 2
N

Finally we get table of 6 !

Step 5: Circle 2nd, 4th, 6th, 8th and 10th Box of each Grid to get Table of 6




Table of 6

G
p—(
[P}
w2
—
5
e
+~
e
@)
A




Table of 7

~ 3 Row A

¥ > Row B

~ 3 Row C

o0
)
(\®)

\O
@)

789 45,6 1,23

Step 2: Unit Place (Right Side) - Starting from Top-Right Box
write numbers 1 to 9

0 7|1 42 | ¢ >Rowaor2
2 8|3 5|4 2 Rouwb-234
4 5 6 37 >RowcC-456

Step 3: Tens Place (Left Side)- Write 0-1-2 in Row A, 2-3-4 in Row B,

Tx1=7 & 4-5-6 in Row C
Tx2=14
Tx3=21
Tx4=28 83 5|4 2”X™
7x5=35 (7 0]
Tx6=42 Step 4: Draw one more box fo write number 70
Tx7=49
7Tx8=56 7 |14 | 21 | 28 | 35
7x9=63 42 1 49 | 56 | 63 | 70

7 X 1 O — 7 O Finally we get table of 7!




Do It Yi If !
Table of 7

~ 3 Row A

¥ > Row B

~ 3 Row C

Step 1: Draw 3 Boxes in 3 Rows (Total 9 Boxes)

789 45,6 1,23

Step 2: Unit Place (Right Side) - Starting from Top-Right Box
write numbers 1 to 9

¥ > Row A-0,1,2

»— 3 RowB-2,34

— S RowC-456

Step 3: Tens Place (Left Side)- Write 0-1-2 in Row A, 2-3-4 in Row B,

7X 1 — & 4-5-6 in Row C
Tx2=
7x3=
Box for 70
Tx4= N
L~ N
7 X 5 — N
7 X 6 = Step 4: Draw one more box to write number 70
Tx 7=
Tx 8=
7Tx9=

7 X 1 O — Finally we get table of 7!




Table of 7

Do It Yourself'!




Table of 8

T S Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

4

2

0

~— > Row A (8,6,42,0)

6

4

2

0

~— 3 Row B (8,6,4,2,0)

Step 2: Unit Place (Right Side) - Write number 8,6,4,2,0 in each box

0 8

1 6

2 4|13 2

4 0

¥ S RowA-0,1234

8

6

4

2

0

Step 3: Tens Place (Left Side)- Write sequence 0,1,2,3,4 in Row A

8x1=8

8x2=16
8x3=24
8x4=32
8x5=40
8x6=48
8x7=56
8x8=64
8x9=72

8x10=80

0 8

1 6(2 4

3 2

4 0

4 g

5 6/6 4

7 2

8 () ¥ > RowB-45678

Step 4: Tens Place (Left Side)- Write sequence 4,5,6,7,8 in Row B

16 | 24

32

40

48

56 | 64

72

80

Finally we get table of 8 !




Do It Yourself |
Table of 8

T 3 Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

~— > Row A (8,6,4,2,0)

> Row B (8,6,4,2,0)

Step 2: Unit Place (Right Side) - Write number 8,6,4,2,0 in each box

¥ S RowA-0,1234

Step 3: Tens Place (Left Side)- Write sequence 0,1,2,3,4 in Row A

8x 1=
8x 2=
8x 3=
8x4=
8x5=
8x 6=
8x 7= Finally we get table of 8 |
8x 8=

8x 9=

8x10=

— 3 RowB-456,78

Step 4: Tens Place (Left Side)- Write sequence 4,5,6,7,8 in Row B




Do It Yourself |
Table of 8




Table of 9

T S Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

8

7

6

5

3

2

1

9876543210

0l

Step 2: Unit Place (Right Side) - Write reverse sequence from 9 to O

0

1

2

3

4

R

5

6

7

8

9

0123456,789

J

Step 3: Unit Place (Left Side) - Write sequence from O to 9

9x1=9

9x2=18
9x3=27
9x4=36
O0x5=45
0x6=54
Ox7=63
Ox8=72
0x9=81

9x10=90

18

27

36

54

63

72

81

Finally we get table of 9!




Do It Yourself |
Table of 9

T S Row A

7 3 Row B

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

)

9876543210

Step 2: Unit Place (Right Side) - Write reverse sequence from 9 to O

R

0123456,789

Step 3: Unit Place (Left Side) - Write sequence from O to 9

Ox 1=
Ox2=
Ox3=
Ox4=
Ox5=
Ox 6=
Ox 7=
9x 8=
9x9=
Ox10=

Finally we get table of 9!




Table of 9




0x1=0
0x2=0
0x3=0
0x4=0
0x5=0
0x6=0
0x7=0
0x8=0
0x9=0

0x10=0

Table of O

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

O, 0 0| 0|0 NN

Number O in all Boxes

0 0 0 0 0 M\

Step 2: Write number O in all boxes

O] 0 07| 0710

O] 0 0] 0] O0

Finally we get table of O'!




Do It Yourself'!

Table of O

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

Ox1= oV

Number O in all Boxes
0x2= N\

O X 3 = Step 2: Write number O in all boxes

O0x4=
O0x35=
0x6=
O0x7=
0 X R = Finally we get table of O'!

0x9=
Ox10=




Do It Yourself'!

Table of O




Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

IxI=1 1 2 3 < 5 N
1,2,345,6,7,8,9,10 in Boxes
Ix2=2 6 7 8 9 |1 0O\
Ix3=3 Step 2: Write number 1 to 10 in boxes
1x4=4
1x5=35
1x6=6 1 2 3 < 5
1x7=7 6 7 8 9 | 10
1x8=8 Finally we get table of 1!
1x9=9

1x10=10




Do It Yourself'!

Step 1: Draw 5 Boxes in 2 Rows (Total 10 Boxes)

Ix1= avVa

1,2,3,45,6,7,8,9,10 in Boxes
1x2= A

I1x3= Step 2: Write number 1 to 10 in boxes

1 x4=
1x5=
lx6=
1x7=
1 X 8 — Finally we get table of 1!

1 x9=
I1x10=




Do It Yourself'!

Table of 1

N

NN

\_




Multiplication

Tricks
for numbers

10 to 99




Table of 10

Table of 1 ‘_\S Z/i Table of 0

01

0 2

0 3

05

0 6

0 7

0 8

00

0000

00

0910

00

00

0000

00

Step 1: Number "10" contains digit "1" & "0" so write the Table of "1" on Left and Table of "0" on Right

Table of O

Box

with

TIVT oo\ e doebor)
10x01=01+00 10x01=01+0]0 10x01=01]0
10x02=02+00 10x02=02+0]0 1 0x02=02[0
10x03=03+00 10x03=03+0]0 10x03=0 3|0
10x04=04+00 10x04=04+0]0 1 0x04=0 40
10x05=05+00 10x05=05+0]0 1 0x05=0 5[0
10x06=06+00 10x06=06+0]0 1 0x06=06|0
10x07=07+00 10x07=07+0]0 10x07=07]0
10x08=08+00 1 0x08=|08+0]0 10x08=08|0
10x09=09+00 10x09=09+0]0 10x09=009]0
10x10=10+00 10x10=10+0]0 1 0x10=10[0

Step 2 Step 3 Step 4

Write in Times Table Format
& insert "+"

sign between them

10x01=010
10x02=020
10x03=030
10x04=040

10x05=050

10x06=060
10x07=070
10x08=080
10x09=090
10x10=100

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding

the humbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 10 !




Do It Yourself'!

Table of 10

Table of 1 bJ Z/i Table of O

Step 1: Number "10" contains digit "1" & "0" so write the Table of "1" on Left and Table of "0" on Right

Table of O

Box with

UL sy el
10x01=+ 10x01H + 10x01=
10x02=+ 10x025 + 10x02=
10x03=+ 10x035 + 10x03=
10x04= + 10x044 + 10x04=
10x05=  + 10x05F + 10x05=
10x06= + 10x06= + 10x06=
10x07= + 10x075 + 10x07=
10x08= + 10x08= + 10x08=
10x09= + 10x0945 + 10x09=
10x10=+ 10x10H + 10x10=

o2 step 3 Step 4

Write in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

10x01=
10x02=
10x03=
10x04=
10x05=

10x06=
10x07=
10x08=
10x09=
10x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 10 !




Do It Yourself'!

Table of 10

510,




Table of 11

N1/

0 10 2()3 05 01 0 310 4]0 5

0607080910 0607080910

Step 1: Number "11" contains digit "1" & "1" so write the Table of "1" on Left and Table of "1" on Right

Table of 1 Box with

Table of 1

LT aowimraenieN it e oon
11x01=01+01 11x01=01+0]1 1 1x01=01]1
11x02=02+02 11x02=]02+0]2 1 1x02-02)2
11x03=03+03 11x03=03+0|3 1 1x03=0 3|3
11x04=04+04 11x04=04+04 1 1x04=04)4
11x05=05+05 11x05=05+0|5 1 1x05=035]5
11x06=06+06 11x06=06+0]6 1 1x06=06]6
11x07=07+07 11x07=07+0|7 1 1x07=07]7
11x08=08+08 11x08=08+0]8 1 1x08=0 8|8
11x09=09+09] |[11x09=09+0[9] |[I11x09=009]9
11x10=10+10 11x10=10+1]0 11x10=11{0

Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding

& insert "+" sign between them digits & only 1 digit from right side the numbers in box
11x01=011 11x06=066
11x02=022 11x07=077 /\/\
11x03=033 11x08=088

Suffix the digit remaining outside the
11x04=044 11x09=099 box to the result

And finally you have the TABLE of 11!
11x05=055 11x10=110




Do It Yourself'!

Table of 11

Table of 1 bJ Z/i Table of 1

Step 1: Number "11" contains digit "1" & "1" so write the Table of "1" on Left and Table of "1" on Right

Table of 1

Box with

B NS W BT vt i
11x01= + 11x015 + 11x01=
11x02=+ 11x025 + 11x02=
11x03=+ 11x035 + 11x03=
11x04= + 11x04=5 + 11x04=
11x05= + 11x055 + 11x05=
11x06= + 11x06= + 11x06=
11x07= + 11x075 + 11x07=
11x08= + 11x08= + 11x08=
11x09= + 11x09- + 11x09=
11x10=+ 11x105 + 11x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

11x01=
11x02=
11x03=
11x04=
11x05=

11x06=
11x07=
11x08=
11x09=
11x10=

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 11!




Do It Yourself'!

Table of 11

IRLLIR




Table of 12

Table of 1 ‘_\S Z/i Table of 2

O 110 20 3

05

060 7|0 8

09

0 2

060 8|1 0

1 0

1 2

1 4/1 6|1 8/2 0

Step 1: Number "12" contains digit "1" & 2" so write the Table of "1" on Left and Table of “2" on Right

Table of 2

Table of 1

Box

with

LT aowimreenieN it e oon
12x01=01+02 12x01=01+0]2 12x01+01)2
12x02=02+04 12x02={02+0}4 12x02=02)4
12x03=03+06] [12x03=03+0]6 12x03=0 3|6
12x04=04+08 12x04=04+0|8 1 2x04=048
12x05=05+10 12x05=035+1|0 1 2x05=06]0
12x06=06+12 12x06=06+1]2 12x06=07]2
12x07=07+14 12x07=07+ 1|4 12x07=0 84
12x08=08+16 12x08=08+1]6 12x08=|09]6
12x09=09+18 12x09=09+ 1|8 12x09=|10]8
12x10=10+20 12x10=10+2|0 12x10=12{0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

12x01=012
12x02=024
12x03=036
12x04=0438

12x05=060

12x06=072
12x07=084
12x08=096
12x09=108
12x10=120

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 12 |




Do It Yourself'!

Table of 12

Table of 1 bJ Z/i Table of 2

Step 1: Number "12" contains digit "1" & 2" so write the Table of "1" on Left and Table of “2" on Right

Table of 2

Box with

NS W I vt e ]
12x01= + 12x015 + 12x01=
12x02= + 12x025 + 12x02=
12x03= + 12x035 + 12x03=
12x04= + 12x04= + 12x04=
12x05= + 12x055 + 12x05=
12x06= + 12x06= + 12x06=
12x07= + 12x07 + 12x07=
12x08= + 12x08= + 12x08=
12x09=+ 12x09- + 12x09=
12x10= + 12x10=F + 12x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

12x01=
12x02=
12x03=
12x04=
12x05=

12x06=
12x07=
12x08=
12x09=
12x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 12 |




Do It Yourself'!

Table of 12

512




Table of 13

B

0 10 2()3 05 0 3 0911 2|15

0607080910 1 82 1|2 412 7|30

Step 1: Number "13" contains digit "1" & "3" so write the Table of "1" on Left and Table of "3" on Right

Table of 3 Box with

Table of 1

LT aowimreenieN it e oon
13x01=01+03 13x01=01+0]3 13x01=01]3
13x02=02+06 13x02=02+0]6 1 3x02=02|6
13x03=03+09] [13x03=03+0]9 1 3x03+03]9
13x04=04+12 13x04=04+1)2 1 3x 040 35)2
13x05=05+15 13x05=05+1|5 13x05=06]5
13x06=06+18 13x06=06+ 1|8 13x06=078
13x07=07+21 13x07=07+2|1 13x07=09]1
13x08=08+24 13x08=08+24 13x08=]10)4
13x09=09+27 13x09=09+2|7 13x09+1 1{7
13x10=10+30] |13x10=10+3J0] (I13x10=1 3|0

Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding

& insert "+" sign between them digits & only 1 digit from right side the numbers in box
13x01=013 13x06=078
13x02=026 13x07=091 /\/\
13x03=039 13x08=104

Suffix the digit remaining outside the
13x04=052 13x09=117 box to the result

And finally you have the TABLE of 13 !
13x05=065 13x10=130




Do It Yourself'!

Table of 13

Table of 1 bJ Z/i Table of 3

Step 1: Number "13" contains digit "1" & "3" so write the Table of "1" on Left and Table of "3" on Right

Table of 1, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
13x01= + 13x015 + 13x01=
13x02= + 13x024 + 13x02=
13x03=+ 13x03= + 13x03=
13x04= + 13x04= + 13x04=
13x05= + 13x055 + 13x05=
13x06= + 13x06F + 13x06=
13x07= + 13x075 + 13x07=
13x08= + 13x08F + 13x08=
13x09=+ 13x094 + 13x09=
13x10=+ 13x105 + 13x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

13x01=
13x02=
13x03=
13x04=
13x05=

13x06=
13x07=
13x08=
13x09=
13x10=

Write the result after adding

the humbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 13 !




Do It Yourself'!

Table of 13

13




Table of 14

S

0 10 2()3

05

060 7|0 8

09

0 4 1 211 6{2 0

1 0

2 42 8|32/36(30

Step 1: Number "14" contains digit "1" & "4" so write the Table of "1" on Left and Table of "4" on Right

Table of 4

Table of 1

Box

with

|97 ot nedmcson)
14x01=01+04 14x01=01+0}|4 14x01=0 14
14x02=02+08 14x02=02+0]|8 14x02=02|8
14x03=03+12 14x03=03+1)2 1 4x03=04|2
14x04=04+16 14x04=04+ 1|6 14x04=05]6
14x05=05+20 14x05=05+2]0 14x05=07(0
14x06=06+24 14x06=06+2]|4 1 4x06=0 8|4
14x07=07+28 14x07=07+2|8 1 4x07=09|8
14x08=08+32 14x08=08+3|2 14x08=1 1|2
14x09=09+36 14x09=09+ 3|6 14x0941 2|6
14x10=10+40 14x10=10+4{0 14x 10140
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

14x01=014
14x02=028
14x03=042
14x04=056
14x05=070

14x06=084
14x07=098
14x08=112
14x09=126
14x10=140

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 14 |




Do It Yourself'!

Table of 14

Table of 1 bJ Z/i Table of 4

Step 1: Number "14" contains digit "1" & "4" so write the Table of "1" on Left and Table of "4" on Right

Table of 4

Box with

UL sy el
14x01= + 14x015 + 14x01=
14x02= + 14x025 + 14x02=
14x03= + 14x03= + 14x03=
14x04= + 14x04= + 14x04=
14x05= + 14x055 + 14x05=
14x06= + 14x06= + 14x06=
14x07= + 14x07= + 14x07=
14x08= + 14x08= + 14x08=
14x09=+ 14x09= + 14x09=
14x10= + 14x10= + 14x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

14x01=
14x02=
14x03=
14x04=
14x05=

14x06=
14x07=
14x08=
14x09=
14x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 14 |




Do It Yourself'!

Table of 14

IRLLIIR




Table of 15

S5

0 10 2()3

05

060 7|0 8

09

05

1 512 0(2 5

1 0

30

35404550

Step 1: Number "15" contains digit "1" & "5" so write the Table of "1" on Left and Table of "5" on Right

Table of

Table of 1

Box

with

|97 ot nedmcson)
15x01=01+05 15x01=01+0)5 I15x01=01|5
15x02=02+10 15x02=02+1]0 1 5x 020 3]0
15x03=03+15 15x03503+1)|5 1 5x03=04|5
15x04=04+20 15x04=04+2|0 1 5x04=0 6|0
15x05=05+25 15x05505+2]5 15x05=07|5
15x06=06+30 15x06=06+ 3|0 15x06=09]0
15x07=07+35 15x07=07+3|5 1 5x07=105
15x08=08+40 15x08=08+4|0 1 5x08=1 2|0
15x09=09+45 15x09=09+4|5 15x09=1 3|5
15x10=10+50 15x10=10+5|0 1 5x 10150
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

15x01=015
15x02=030
15x03=045
15x04=060

15x05=075

15x06=090
15x07=105
15x08=120
15x09=135
15x10=150

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 15 !




Do It Yourself'!

Table of 15

Table of 1 bJ Z/i Table of 5

Step 1: Number "15" contains digit "1" & "5" so write the Table of "1" on Left and Table of "5" on Right

Table of

Box with

NS W R vt e
15x01= + 15x015 + 15x01=
15x02= + 15x02= + 15x02=
15x03= + 15x035 + 15x03=
15x04= + 15x04=5 + 15x04=
15x05=+ 15x055 + 15x05=
15x06= + 15x06= + 15x06=
15x07=+ 15x075 + 15x07=
15x08= + 15x08= + 15x08=
15x09=+ 15x09- + 15x09=
15x10= + 15x10F + 15x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

15x01=
15x02=
15x03=
15x04=
15x05=

15x06=
15x07=
15x08=
15x09=
15x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 15 !




Do It Yourself'!

Table of 15

15,




Table of 16

L

0 10 2()3

05

060 7|0 8

09

0 6 1 8/2 4|3 0

1 0

36(42/428|54/60

Step 1: Number "16" contains digit "1" & "6" so write the Table of "1" on Left and Table of "6" on Right

Table of 6

Table of 1

Box

with

|97 ol nedmcson)
16x01=01+06 16x01=01+0|6 16x01=01]6
16x02=02+12 16x02=02+1]2 1 6x02-0 3|2
16x03=03+18 16x03=03+1]|8 1 6x03-048
l6x04=04+24 16x04=04+2|4 1 6x04-=06|4
16x05=05+30 16x05=05+3]0 1 6x05=0 8|0
16x06=06+36 16x06=06+ 3|6 1 6x06=09|6
16x07=07+42 16x07=07+4|2 16x0741 1|12
16x08=0&8+48 16x08=0&+4|8 16x08=1 2|¥
16x09=09+54 16x09=09+ 5|4 16x09=1 4|4
16x10=10+60 16x10=10+6]0 16x10=16|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

16x01=016
16x02=032
16x03=0438
16x04=064
16x05=080

16x06=096
16x07=112
16x08=128
16x09=144
16x10=160

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 16 !




Do It Yourself'!

Table of 16

Table of 1 bJ Z/i Table of 6

Step 1: Number "16" contains digit "1" & "6" so write the Table of "1" on Left and Table of "6" on Right

Tableof 1, :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
16x01=+ 16x015 + 16x01=
16x02= + 16x024 + 16x02=
16x03= + 16x03= + 16x03=
16x04= + 16x04= + 16x04=
16x05= + 16x055 + 16x05=
16x06= + 16x06= + 16x06=
16x07= + 16x075 + 16x07=
16x08= + 16x08= + 16x08=
16x09= + 16x094 + 16x09=
16x10= + 16x10=5 + 16x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

16x01=
16x02=
16x03=
16x04=
16x05=

16x06=
16x07=
16x08=
16x09=
16x10=

Write the result after adding

the humbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 16 !




Do It Yourself'!

Table of 16

516 .




Table of 17

PRLL/I

0 10 2()3

05

060 7|0 8

09

O 711 412 1|2 8|3 5

1 0

4 214 9|5 6/6 3|70

Step 1: Number "17" contains digit "1" & "7" so write the Table of "1" on Left and Table of "7" on Right

Table of 7

Table of 1

Box

with

LT aowimreen e\ it e oon
17x01=01+07 17x01=01+0]|7 17x01=01]7
17x02=02+14] |17x02=02+14] |1 7x02=0 3|4
17x03=03+21 17x03=03+2|1 1 7x03=03]1
17x04=04+28 17x04=04+2|8 1 7x04=0 6|8
17x05=05+35 17x05=05+3|5 1 7x05=0 8|5
17x06=06+42 17x06=06+4|2 1 7x06=10]2
17x07=07+49 17x07=07+49 17x07=11]9
17x08=08+56 17x08=08&8+5]6 17x08=|1 3|6
17x09=09+63 17x09=09+ 6|3 1 7x09=1 5|3
17x10=10+70 17x10=10+70 17x10=17{0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

17x01=017
17x02=034
17x03=051
17x04=0638

17x05=085

17x06=102
17x07=119
17x08=136
17x09=153
17x10=170

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 17 |




Do It Yourself'!

Table of 17

Table of 1 bJ Z/i Table of 7

Step 1: Number "17" contains digit "1" & "7" so write the Table of "1" on Left and Table of "7" on Right

Table of 7

Box with

MU sy el
17x01=+ 17x01= + 17x01=
17x02= + 17x025 + 17x02=
17x03= + 17x03=5 + 17x03=
17x04= + 17x04= + 17x04=
17x05=+ 17x055 + 17x05=
17x06= + 17x06= + 17x06=
17x07= + 17x07= + 17x07=
17x08= + 17x08= + 17x08=
17x09= + 17x09= + 17x09=
17x10= + 17x10= + 17x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

17x01=
17x02=
17x03=
17x04=
17x05=

17x06=
17x07=
17x08=
17x09=
17x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 17 |




Do It Yourself'!

Table of 17

LI




Table of 13

Table of 1 ‘_\S Z/i Table of 8

O 110 20 3

05

060 7|0 8

09

0 8 2 4/32/40

1 0

4 8|5 6|6 47 2|80

Step 1: Number "18" contains digit "1" & "8" so write the Table of "1" on Left and Table of "8" on Right

Table of 8

Table of 1

Box

with

LT aowimreen e\ it e oon
18x01=01+08 18x01=01+0]8 18x01-01|8
18x02=02+16] [18x02=02+1}6 1 8x02-0 3|6
18x03=03+24] [(18x03=03+2]4 |18x03=054
18x04=04+32 18x04=04+3|2 18x04=07)2
18x05=05+40] (18x05=05+4|0] |18x05=09]0
18x06=06+48 18x06=06+4|8 1 8x06=]108
18x07=07+56 18x07=07+5|6 18x07=]12]|6
18x08=08+64 18x08=08&8+6/4 1 8x 08144
18x09=09+72 18x09=09+7]2 1 8x09=16]2
18x10=10+80] |18x10=10+8|0] |[I18x10=]1 8|0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

18x01=018
18x02=036
18x03=054
18x04=072
18x05=090

18x06=108
18x07=126
18x08=144
18x09=162
18x10=180

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 18 !




Do It Yourself'!

Table of 13

Table of 1 bJ Z/i Table of 8

Step 1: Number "18" contains digit "1" & "8" so write the Table of "1" on Left and Table of "8" on Right

Table of 8

Box with

MU sy el
18x01= + 18x01+5 + 18x01=
18x02= + 18x025 + 18x02=
18x03=+ 18x035 + 18x03=
18x04= + 18x044 + 18x04=
18x05= + 18x054 + 18x05=
18x06=  + 18x06=5 + 18x06=
18x07= + 18x075 + 18x07=
18x08= + 18x08= + 18x08=
18x09= + 18x095 + 18x09=
18x10=+ 18x105 + 18x10=

srer2 step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

18x01=
18x02=
18x03=
18x04=
18x05=

18x06=
18x07=
18x08=
18x09=
18x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 18 !




Do It Yourself'!

Table of 13

518




Table of 19

L/

0 10 2()3

05

060 7|0 8

09

09

2 7|3 6(4 5

1 0

5 4

6 3/7 2|8 1190

Step 1: Number "19" contains digit "1" & "9" so write the Table of "1" on Left and Table of "9" on Right

Table of 9

Table of 1

Box

with

LT aowimraenieN it e oon
19x01=01+09 19x01=01+0]9 19x01=01]9
19x02=02+18 19x02=02+1]8 19x02+0 3|8
19x03=03+27 [(19x03=03+2|7 19x03=035]7
19x04=04+36 19x04=04+3|6 19x04=07]6
19x05=05+45 19x05=05+4|5 19x05=09]5
19x06=06+54 19x06=06+5}4 19x06=|11)4
19x07=07+63 19x07=07+6]|3 19x07=1 3|3
19x08=08+72 19x08=08+7]2 19x08=1 5|2
19x09=09+81 19x09=09+§|1 19x09=17}|1
19x10=10+90 19x10=10+9]0 19x10=19]0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

19x01=019
19x02=038
19x03=057
19x04=076

19x05=095

19x06=114
19x07=133
19x08=152
19x09=171
19x10=190

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 19 !




Do It Yourself'!

Table of 19

Table of 1 bJ Z/i Table of 9

Step 1: Number "19" contains digit "1" & "9" so write the Table of "1" on Left and Table of "9" on Right

Tableof 1, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
19x01= + 19x015 + 19x01=
19x02= + 19x025 + 19x02=
19x03=+ 19x03= + 19x03=
19x04= + 19x04= + 19x04=
19x05= + 19x055 + 19x05=
19x06= + 19x06= + 19x06=
19x07= + 19x075 + 19x07=
19x08= + 19x08 + 19x08=
19x09= + 19x094 + 19x09=
19x10=+ 19x105 + 19x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

19x01=
19x02=
19x03=
19x04=
19x05=

19x06=
19x07=
19x08=
19x09=
19x10=

Write the result after adding

the humbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 19 !




Do It Yourself'!

Table of 19

19




Table of 20

Table of 2 ‘_\S Z/i Table of 0

020 4

0 6

1 0

1 2|1 4

1 6/1 8

20

00
00

00
00

00
00

00
00

00

Step 1: Number "20" contains digit "2" & "0" so write the Table of "2" on Left and Table of "0" on Right

Table of 2

Table of O

LT

Box with

ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

20x01=02+00] [20x01=02+0]0 |20x01=02|0
20x02=04+00] [20x02=04+0[0] [20x02=04|0
20x03=06+00] 20x03=06+0]0| |20x03=06|0
20x04=08+00] 20x04=08+0]0| |20x04=0 8|0
20x05=10+00] |20x05=10+0[0] 20x05=10]0
20x06=12+00] [20x06=12+0[0] [20x06=|12]0
20x07=14+00] 20x07=14+0]0| |20x07=14|0
20x08=16+00] 20x08=16+0]0| |20x08=1 6|0
20x09=18+00] [20x09=18+0]0] [20x09=1 8|0
20x10=20+00] [20x10=20+0]0| |20x10=20]0
Step 2 Step 3 Step 4

Write in Times Table Format Draw a box with complete left side ~ Write the result after adding
& insert “+" sign between them  digits & only 1 digit from right side the numbers in box

20x01=020 20x06=120
20x02=040 20x07=140 /\/\
20x03=060 20x08=160

Suffix the digit remaining outside the
20x04=080 20x09=180 box to the result

And finally you have the TABLE of 20!
20x05=100 20x10=200




Do It Yourself'!

Table of 20

Table of 2 ‘_\S Z/A Table of O

Step 1: Number "20" contains digit "2" & "0" so write the Table of "2" on Left and Table of "0" on Right

Table of 2, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
20x01= + 20x01+4 + 20x01=
20x02=+ 20x024 + 20x02=
20x03=+ 20x03 + 20x03=
20x04= + 20x04= + 20x04=
20x05= + 20x05 + 20x05=
20x06= + 20x065 + 20x06=
20x07= + 20x07H + 20x07=
20x08= + 20x08H + 20x08=
20x09= + 20x094H + 20x09=
20x10=+ 20x10H + 20x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

20x01=
20x02=
20x03=
20x04=
20x05=

20x06=
20x07=
20x08=
20x09=
20x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 20!




Do It Yourself'!

Table of 20

. 520,




Table of 21

Table of 2 ‘_\S Z/i Table of 1

0210 4]0 6 1 0 01 0 310 4]0 5

1 211 4|1 6|1 8/2 0 0607080910

Step 1: Number "21" contains digit "2" & "1" so write the Table of "2" on Left and Table of "1" on Right

Table of 1 Box with

T e | g daot et ste nice he dark oo |

21x01=02+01 21x01=02+0]1 21x01+02f1
21x02=04+02 21x02504+0|2 21 x02-0 4|2
21x03=06+03 21x03=06+0]3 21x03-06|3
21x04=08+04 21x04=08+0}4 21 x04-0 8|4
21x05=10+05 21x05510+0]5 21 x05=10|5
21x06=12+06 21x06=12+0]6 21x06=1 2|6
21x07=14+07 21x07=14+0]7 21 x07=1 4|7/
21x08=16+08 21x08=16+0|8 21x081 6|8
21x09=18+09 21x09=18+0]|9 21x09+1 8|9
21x10=20+10 21x10=20+1]0 21x10=2 110
Write in TiranpTible Format Draw a box wi‘j:if)r:plefe left side Write the rzzﬂzﬁer adding
& insert “+" sign between them digits & only 1 digit from right side the numbers in box

21x01=021 21x06=126

21x02=042 21x07=147 M
21x03=063 21x08=168
Suffix the digit remaining outside the

21x04=084 21x09=189 box to the result
And finally you have the TABLE of 21!
21x05=105 21x10=210




Do It Yourself'!

Table of 21

Table of 2 bJ Z/i Table of 1

Step 1: Number "21" contains digit "2" & "1" so write the Table of "2" on Left and Table of "1" on Right

Table of 2

Table of 1

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

21x01= + 21x01H + 21x01=
21x02=+ 21x02 + 21x02=
21x03=+ 21x035 + 21x03=
21x04= + 21x04= + 21x04=
21x05= + 21x054 + 21x05=
21x06= + 21x06 + 21x06=
21x07= + 21x07 + 21x07=
21x08= + 21x08 + 21x08=
21x09= + 21x095 + 21x09=
21x10=+ 21x10H + 21x10=

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

21x01=
21x02=
21x03=
21x04=
21x05=

21x06=
21x07=
21x08=
21x09=
21x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 21!




Do It Yourself'!

Table of 21

LI




Table of 22

Table of 2 ‘_\S Z/A Table of 2

020 4

0 6

1 0 0

1 2|1 4

1 6/1 8

2 060 8|1 0

20 1

2|1 4/1 61 8|2 0

Step 1: Number "22" contains digit "2" & "2" so write the Table of "2" on Left and Table of "2" on Right

Table of 2

Table of 2

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

22x01=02+02| 122x01502+0J2| |22x01=02|2
22x02=04+04| [22x02=04+0}4| |22x02=04}4
22x03=06+06] 22x03=06+0]6| |22x03=06|6
22x04=08+08 22x04=08+0]8] |22x04=0 3|3
22x05=10+10] [22x05=10+1]0] |22x05=1 1]0
22x06=12+12| 122x06=12+1}]2| |22x06=1 3|2
22x07=14+14| 122x07=14+1}4| |22x07=1 54
22x08=16+16] 22x08=16+1|6|] 22x08=17|6
22x09=18+18 [22x09=18+1I8 22x09=19]8
22x10=20+20] 122x10=20+2]0 |22x10=22|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
22x01=022 22x06=132
22x02=044 22x07=154
22x03=066 22x08=176
22x04=088 22x09=198
22x05=110 22x10=220

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 22!




Do It Yourself'!

Table of 22

Table of 2 ‘_\S Z/A Table of 2

Step 1: Number "22" contains digit "2" & "2" so write the Table of "2" on Left and Table of "2" on Right

Table of 2

Table of 2

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

22x01= + 22x014H + 22x01=
22x02= + 22x024 + 22x02=
22x03= + 22x035 + 22x03=
22x04= + 22x04= + 22x04=
22x05=+ 22x054 + 22x05=
22x06= + 22x06= + 22x06=
22x07= + 22x074H + 22x07=
22x08= + 22x08 + 22x08=
22x09= + 22x095 + 22x09=
22x10=+ 22x10H + 22x10=

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

22x01=
22x02=
22x03=
22x04=
22x05=

22x06=
22x07=
22x08=
22x09=
22x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 22!




Do It Yourself'!

Table of 22

.22




Table of 23

Table of 2 ‘_\S Z/A Table of 3

020 4

0 6

1 0

1 2|1 4

1 6/1 8

20

Step 1: Number "23" contains digit "2" & "3" so write the Table of "2" on Left and Table of "3" on Right

Table of 2

Table of 3

L1

ALL digits of left side

0 3 091 2|1 5
1 8{2 1(2 42 7|30
pox i Add the digit
\ inside the dzrk‘?);i l

& ONE digit of right side

23x01=02+03] |23x01=02+0]3] [23x01=02|3
23x02=04+06] [23x02=04+0]6| 23x02=04|6
23x03=06+09] [23x03=06+0]9] |23x03=06|[9
23x04=08+12] [23x04=08+1]2) [23x04=09]2
23x05=10+15] |23x05F10+1]5 23x05=11}5
23x06=12+18] [23x06=12+1[8] [23x06-1 3|8
23x07=14+21] [23x07F14+2[1|] 23x071 6|1
23x08=16+24] 23x08=16+2[4 23x08=1 84
23x09=18+27 23x09518+2|7] |23x09=20]7
23x10=20+30] [23x10=20+3]0, 23x1023|0
Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding
& insert "+" sign between them digits & only 1 digit from right side the numbers in box
23x01=023 23x06=138
23x02=046 23x07=161 M
23x03=069 23x08=184

Suffix the digit remaining outside the
23x04=092 23x09=207 box to the result

And finally you have the TABLE of 23!
23x05=115 23x10=230




Do It Yourself'!

Table of 23

Table of 2 bJ Z/i Table of 3

Step 1: Number "23" contains digit "2" & "3" so write the Table of "2" on Left and Table of "3" on Right

Table of 2

Table of 3

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

23x01= + 23x015 + 23x01=
23x02= + 23x024 + 23x02=
23x03=+ 23x035 + 23x03=
23x04= + 23x04= + 23x04=
23x05= + 23x054 + 23x05=
23x06= + 23x06 + 23x06=
23x07= + 23x07H + 23x07=
23x08=+ 23x084 + 23x08=
23x09= + 23x094H + 23x09=
23x10=+ 23x10H + 23x10=

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

23x01=
23x02=
23x03=
23x04=
23x05=

23x06=
23x07=
23x08=
23x09=
23x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 23!




Do It Yourself'!

Table of 23

523




Table of 24

Table of 2 ‘_\S Z/A Table of 4

020 4

0 6

1 0

1 2|1 4

1 6/1 8

20

0 4 1 211 6{2 0

2 42 8|32/36(30

Step 1: Number "24" contains digit "2" & "4" so write the Table of "2" on Left and Table of "4" on Right

Table of 2

Table of 4

LT

Box with

ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

24x01=02+04] [24x01=02+0/4 [24x01=024
24x02=04+08] [24x02504+0l8 |24x02+043
24x03=06+12] [24x03=06+1]2) (24x03=07|2
24x04=08+16] [24x04=08+1]|6| [24x04=09]6
24x05=10+20] [24x05=10+2/0, (24x05=|12/0
24x06=12+24] [24x06=12+2/4 (24x06=|144
24x07=14+28] [24x07F14+2[8 [24x07-1 6|8
24x08=16+32] 24x08=16+3]2] |24x08=19]2
24x09=18+36] [24x09=18+3|6| [24x09=21]6
24x10=20+40] |24x10=20+40] 124x10=24{0
Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding
& insert "+" sign between them digits & only 1 digit from right side the numbers in box
24x01=024 24x06=144
24x02=048 24x07=168 M
24x03=072 24x08=192

Suffix the digit remaining outside the
24x04=096 24x09=216 box to the result

And finally you have the TABLE of 24 !
24x05=120 24x10=240




Do It Yourself'!

Table of 24

Table of 2 bJ Z/i Table of 4

Step 1: Number "24" contains digit "2" & "4" so write the Table of "2" on Left and Table of "4" on Right

Table of 2

Table of 4

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

24x01= + 24x014H + 24x01=
24x02= + 24x02= + 24x02=
24x03=+ 24x035 + 24x03=
24x04=  + 24x04= + 24x04=
24x05= + 24x054 + 24x05=
24x06= + 24x06= + 24x06=
24x07= + 24x07 + 24x07=
24x08= + 24x08= + 24x08=
24x09= + 24x095 + 24x09=
24x10= + 24x104H + 24x10=

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

24x01=
24x02=
24x03=
24x04=
24x05=

24x06=
24x07=
24x08=
24x09=
24x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 24 !




Do It Yourself'!

Table of 24

.28




Table of 25

Table of 2 ‘_\S Z/A Table of 5

020 4

0 6

1 0 0

1 2|1 4

1 6/1 8

5 1 512 0(2 5

20 3

03 5/40(4 5[50

Step 1: Number "25" contains digit "2" & "5" so write the Table of "2" on Left and Table of "5" on Right

Table of 2

Table of

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

25x01=02+05 25x01=02+0}5 25x01=02]5
25x02=04+10 25x02=04+1]0 25x02=05]0
25x03=06+15 25x03=06+ 1|5 25x03-07|5
25x04=08+20 25x04=08+2|0 25x04=10]0
25x05=10+25 25x05510+2)5 25x0541 2|5
25x06=12+30 25x06=12+3|0 25x06=1 5|0
25x07=14+35 25x07=14+3|5 25x07417|5
25x08=16+40 25x08=16+4|0 25x08=20]0
25x09=18+45 25x09=1 8+4|5 25x09=2 2|15
25x10=20+50 25x10=20+5|0 25x10=2 5|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
25x01=025 25x06=150
25x02=050 25x07=175
25x03=075 25x08=200
25x04=100 25x09=225
25x05=125 25x10=250

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 25!




Do It Yourself'!

Table of 25

Table of 2 ‘_\S Z/A Table of 5

Step 1: Number "25" contains digit "2" & "5" so write the Table of "2" on Left and Table of "5" on Right

Table of 2

Table of

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

25x01= + 25x014H + 25x01=
25x02= + 25x024H + 25x02=
25x03= + 25x03= + 25x03=
25x04= + 25x04= + 25x04=
25x05= + 25x054 + 25x05=
25x06= + 25x06 + 25x06=
25x07= + 25x07H + 25x07=
25x08= + 25x08 + 25x08=
25x09= + 25x094 + 25x09=
25x10=+ 25x10H + 25x10=

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

25x01=
25x02=
25x03=
25x04=
25x05=

25x06=
25x07=
25x08=
25x09=
25x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 25!




Do It Yourself'!

Table of 25

523




Table of 26

Table of 2 ‘_\S Z/A Table of 6

020 4

0 6

1 0 0

1 2|1 4

1 6/1 8

6 1 8/2 4|3 0

20 3

64 214 8|5 4|6 0

Step 1: Number "26" contains digit "2" & "6" so write the Table of "2" on Left and Table of "6" on Right

Table of 2

Table of 6

L1

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

26x01=02+06 26x01=02+0]|6 26x01-02]6
26x02=04+12 26x02=04+1)2 26x02=05)2
26x03=06+18 26x03=06+ 1|8 26x03=07|8
26x04=08+24 26x04=08+2|4 26x04=10}4
26x05=10+30 26x05=10+ 3|0 26x 051 3|0
26x06=12+36 26x06=1 2+ 3|6 26x06=1 5|6
26x07=14+42 26x07514+4|2 26x07=1 8|2
260x08=16+48 26x08=16+4|8 26x08=20|8
26x09=18+54 26x09=1 8+ 5|4 26x09=2 3|4
26x10=20+60 26x10=20+6|0 26x10=26]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
26x01=026 26x06=1356
26x02=052 26x07=182
26x03=078 26x08=208
26x04=104 26x09=234
26x05=130 26x10=260

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 26 !




Do It Yourself'!

Table of 26

Table of 2 ‘_\S Z/A Table of 6

Step 1: Number "26" contains digit "2" & "6" so write the Table of "2" on Left and Table of "6" on Right

Tableof 2, ; :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
26x01= + 26x015 + 26x01=
26x02= + 26x024 + 26x02=
26x03=+ 26x03= + 26x03=
26x04= + 26x04= + 26x04=
26x05= + 26x05 + 26x05=
26x06= + 26x06= + 26x06=
26x07= + 26x07H + 26x07=
26x08= + 26x08 + 26x08=
26x09=+ 26x094H + 26x09=
26x10=+ 26x10H + 26x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

26x01=
26x02=
26x03=
26x04=
26x05=

26x06=
26x07=
26x08=
26x09=
26x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 26 !




Do It Yourself'!

Table of 26

. 526




Table of 27

Table of 2 ‘_\S Z/i Table of 7

020 4

0 6

1 0 0

1 2|1 4

1 6/1 8

711 412 1|12 8|3 5

20 -

214 9/56(6 3|/70

Step 1: Number "27" contains digit "2" & 7" so write the Table of "2" on Left and Table of “7" on Right

Table of 2

Table of 7

L1

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

27x01=02+07 127x01=502+0]7f [27x01=02|7
27x02=04+14| 27x02=04+1}4| |27x02=0354
27x03=06+21] [27x03=06+2]1| |27x03=0 8|1
27x04=08+28 27x04=08+2|8] |27x04=10|8
27x05=10+35] 27x05=10+3|5| 127x05=13|5
27x06=12+42| 27x06=12+4]2| |27x06=1 6|2
27x07=14+49| 27x07=14+419] 27x07=1 |9
27x08=16+56] 27x08=16+5|6|] |27x08=21|6
27x09=18+63] 27x09=18+6]3] |27x09=24|3
27x10=20+70] 27x10=20+710| |27x10=27|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
27x01=027 27x06=162
27x02=054 27x07=189
27x03=081 27x08=216
27x04=108 27x09=243
27x05=135 27x10=270

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 27 !




Do It Yourself'!

Table of 27

Table of 2 b\S Z/i Table of 7

Step 1: Number "27" contains digit "2" & 7" so write the Table of "2" on Left and Table of “7" on Right

Table of 2

Table of 7

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

27x01=
27x02=
27x03=
27x04=
27x05=
27x06=
27x07=
27x08=
27x09=
27x10=

+

+ + + + + + + 4+ +

27x014H + 27x01=
27x02= + 27x02=
27x035 + 27x03=
27x04= + 27x04=
27x05H + 27x05=
27x06= + 27x06=
27x07= + 27x07=
27x08= + 27x08=
27x095 + 27x09=
27x10H + 27x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

27x01=
27x02=
27x03=
27x04=
27x05=

27x06=
27x07=
27x08=
27x09=
27x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 27 !




Do It Yourself'!

Table of 27

. 527




Table of 238

Table of 2 ‘_\S Z/A Table of 8

020 4

0 6

1 0

1 2|1 4

1 6/1 8

20

0 8
4 8

2 4
6 4

3 2
7 2

4 0
8 0

56

Step 1: Number "28" contains digit "2" & "8" so write the Table of "2" on Left and Table of "8" on Right

Table of 2

Table of 8

LT

Box with

ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

28x01=02+08] [28x01=02+018] |28x01=02|8
28x02=04+16] 128x02=04+1)6] |28x02=05|6
28x03=06+24| [28x03=06+2]4| |28x03=0 84
28x04=08+32] [28x04=08+3]2| |28x04=11)2
28x05=10+40] [28x05=10+4{0] |28x05=14|0
28x06=12+48] 28x06=12+48] |28x06=1 6|3
28x07=14+56] 128x07=14+5|6|] |28x07=19|6
28x08=16+64] [28x08=16+6j4 |28x08=224
28x09=18+72| [28x09=18+7]2| |28x09=2)5|2
28x10=20+80] 28x10=20+8J|0] [28x10=28§|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

28x01=028 28x06=168
28x02=056 28x07=196 M
28x03=084 28x08=224

Suffix the digit remaining outside the
28x04=112 28x09=252 box to the result

And finally you have the TABLE of 28 !
28x05=140 28x10=280




Do It Yourself'!

Table of 238

Table of 2 b\S Z/i Table of 8

Step 1: Number "28" contains digit "2" & "8" so write the Table of "2" on Left and Table of "8" on Right

Tableof 2, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
28x01= + 28x015 + 28x01=
28x02=+ 28x02 + 28x02=
28x03=+ 28x03= + 28x03=
28x04= + 28x04= + 28x04=
28x05=+ 28x05 + 28x05=
28x06= + 28x06= + 28x06=
28x07= + 28x07H + 28x07=
28x08= + 28x084 + 28x08=
28x09= + 28x094H + 28x09=
28x10=+ 28x10H + 28x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

28x01=
28x02=
28x03=
28x04=
28x05=

28x06=
28x07=
28x08=
28x09=
28x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 28 !




Do It Yourself'!

Table of 238

. 528




Table of 29

Table of 2 ‘_\S Z/A Table of 9

020 4

0 6

1 0

1 2|1 4

1 6/1 8

20

09
5 4

27
7 2

36
8 1

45
9 0

6 3

Step 1: Number "29" contains digit "2" & "9" so write the Table of "2" on Left and Table of "9" on Right

Table of 2

Table of 9

LT

Box with

ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

29x01=02+09] 129x01=02+019] 129x01=02|9
29x02=04+18] 29x02=04+1]8] |29x02=0 5|8
29x03=06+27 129x03=06+2]7| |29x03=0 8|7
29x04=08+36] 29x04=08+3|6|] 29x04=1 1|6
29x05=10+45] 29x05=10+4|5| 129x05=14|5
29x06=12+54] 29x06=12+5|4| |29x06=1 7|4
29x07=14+63] 29x07=14+6|3] 29x07=20|3
29x08=16+72] 29x08=16+72] [29x08=2 3|2
29x09=18+81 29x09=1 8+§|l 29x09=26]1
29x10=20+90] [29x10=20+9]0| |29x10=29]|0
Step 2 Step 3 Step 4

Write in Times Table Format Draw a box with complete left side ~ Write the result after adding
& insert “+" sign between them  digits & only 1 digit from right side the numbers in box

29x01=029 29x06=174
29x02=058 29x07=203 M
29x03=087 29x08=232

Suffix the digit remaining outside the
29x04=116 29x09=261 box to the result

And finally you have the TABLE of 29!
29x05=145 29x10=290




Do It Yourself'!

Table of 29

Table of 2 ‘_\S Z/A Table of 9

Step 1: Number "29" contains digit "2" & "9" so write the Table of "2" on Left and Table of "9" on Right

Tableof 2, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
29x01= + 29x015 + 29x01=
29x02= + 29x024 + 29x02=
29x03=+ 29x03= + 29x03=
29x04= + 29x04= + 29x04=
29x05= + 29x055 + 29x035=
29x06= + 29x064H + 29x06=
29x07= + 29x074H + 29x07=
29x08= + 29x08= + 29x08=
29x09= + 29x094 + 29x09=
29x10= + 29x104H + 29x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

29x01=
29x02=
29x03=
29x04=
29x05=

29x06=
29x07=
29x08=
29x09=
29x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 29!




Do It Yourself'!

Table of 29

. 529 .




Table of 30

Table of 3 ‘_\S Z/i Table of 0

0 3

0 6

09 15

1 8

2 1

00

0000

0

0

2 42 7|30

00

00

0000

0

0

Step 1: Number "30" contains digit "3" & "0" so write the Table of "3" on Left and Table of "0" on Right

Table of O Box

with

TIUT aowiienie\ st doebor)
30x01=03+00] [30x01=03+0J0] |30x01=0 3]0
30x02=06+00] [30x02H06+0J0] [30x02=06{0
30x03=09+00] 30x03H09+0j0] [30x03=0°9|0
30x04=12+00] [30x04=12+0J0] (30x04=1 2|0
30x05=15+00 30x05=15+0]0 30x05+135/0
30x06=18+00] [30x06=18+0[0] |30x06=1 8|0
30x07=21+00] [30x07=21+010] (30x07=21]0
30x08=24+00 30x08=24+0]0 30x 08240
30x09=27+00 30x09=27+0]0 30x09=27(0
30x10=30+00] [30x10+H30+0[0] |30x10=30]0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

30x01=030 30x06=180
30x02=060 30x07=210
30x03=090 30x08=240
30x04=120 30x09=270

30x05=150

30x10=300

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 30!




Do It Yourself'!

Table of 30

Table of 3 bJ Z/i Table of O

Step 1: Number "30" contains digit "3" & "0" so write the Table of "3" on Left and Table of "0" on Right

Table of 3, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
30x01= + 30x014 + 30x01=
30x02= + 30x024 + 30x02=
30x03= + 30x03H + 30x03=
30x04=  + 30x045 + 30x04=
30x05= + 30x054 + 30x05=
30x06= + 30x06 + 30x06=
30x07= + 30x074H + 30x07=
30x08= + 30x084 + 30x08=
30x09= + 30x094 + 30x09=
30x10= + 30x104H + 30x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

30x01=
30x02=
30x03=
30x04=
30x05=

30x06=
30x07=
30x08=
30x09=
30x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 30!




Do It Yourself'!

Table of 30

. 530, .




Table of 31

3

0 3()6()9

15

1 82 1|2 4

27

01 0 310 4]0 5

30

0607080910

Step 1: Number "31" contains digit "3" & "1" so write the Table of "3" on Left and Table of "1" on Right

Table of 1

Table of 3

Box with

| 797 i nedmeson)
31x01=03+01 31x01=03+0}1 31x01+0 3|1
31x02=06+02 31x02=06+0|2 31x02-06]2
31x03=09+03 31x03=09+0]3 31x0309|3
31x04=12+04 31x04412+0|4 31x04=12/4
31x05=15+05 31x05515+0)5 31x05=1 5|5
31x06=18+06 31x06=18+0]6 31x06=1 8|6
31x07=21+07 31x07H21+0]7 31x07=21}7
31x08=24+08 31x08=24+0|8 31x08=24|8
31x09=27+09 31x09=27+0]9 31x0952719
31x10=30+10 31x10=30+1{0 31x10=31]0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

31x01=031
31x02=062
31x03=093
31x04=124
31x05=155

31x06=186
31x07=217
31x08=248
31x09=279
31x10=310

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 31!




Table of 31

Table of 3 bJ Z/i Table of 1

Step 1: Number "31" contains digit "3" & "1" so write the Table of "3" on Left and Table of "1" on Right

Table of 1 Box with

UYL aomnten i sl edanio]
31x01= + 31x014H + 31x01=
31x02= + 31x024 + 31x02=
31x03=+ 31x03F + 31x03=
31x04= + 31x045 + 31x04=
31x05= + 31x05H + 31x05=
31x06= + 31x06 + 31x06=
31x07=+ 31x07H + 31x07=
31x08=+ 31x085 + 31x08=
31x09= + 31x095 + 31x09=
31x10= + 31x104H + 31x10=

Step 2 Step 3 Step 4
Write in Times Table Format ~ Draw a box with complete left side  Write the result after adding
& insert "+ sign between them digits & only 1 digit from right side the numbers in box
31x01= 31x06=

31x02= 31x07= M
31x03= 31x08=
Suffix the digit remaining outside the

31XO4: 31X09: box to the result.

And finally you have the TABLE of 31!
31x05= 31x10=




Do It Yourself'!

Table of 31

IRELIR




Table of 32

Table of 3 ‘_\S Z/A Table of 2

0 306009

15

1 82 1|2 4

27

0 2

060 8|1 0

30

1 2

1 4/1 6|1 8/2 0

Step 1: Number "32" contains digit "3" & "2" so write the Table of "3" on Left and Table of "2" on Right

Table of 2

Box

with

U] i, e oo
32x01=03+02 32x01503+0)2 32x01+03)12
32x02=06+04 32x02+06+0|4 32x02-06]4
32x03=09+06 32x03509+0]6 32x03-009|6
32x04=12+08 32x04412+0]8 32x0441 2|8
32x05=15+10 32x05515+1{0 32x05-1 6|0
32x06=18+12 32x06=18+1)2 32x06-19|2
32x07=21+14 32x07521+114 32x07922|4
32x08=24+16 32x08=24+1]6 32x08=2 516
32x09=27+18 32x09527+ 1|8 32x09=2 8|8
32x10=30+20 32x10530+2|0 32x10532|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

32x01=032
32x02=064
32x03=096
32x04=128

32x05=160

32x06=192
32x07=224
32x08=256
32x09=288

32x10=320

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 32!




Do It Yourself'!

Table of 32

Table of 3 bJ Z/i Table of 2

Step 1: Number "32" contains digit "3" & "2" so write the Table of "3" on Left and Table of "2" on Right

Table of 3

Table of 2

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

32x01=
32x02=
32x03=
32x04=
32x05=
32x06=
32x07=
32x08=
32x09=
32x10=

+

+ + + + + + + 4+ +

32x014 + 32x01=
32x024 + 32x02=
32x035 + 32x03=
32x044 + 32x04=
32x054 + 32x05=
32x06= + 32x06=
32x07H + 32x07=
32x08F + 32x08=
32x095 + 32x09=
32x104 + 32x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

32x01=
32x02=
32x03=
32x04=
32x05=

32x06=
32x07=
32x08=
32x09=
32x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 32!




Do It Yourself'!

Table of 32

. 532 .




Table of 33

33

0 306

O 9

15

1 812 1

2 427

30

0 3
1 8

09
2 4

1 2
27

15
30

2 1

Step 1: Number "33" contains digit "3" & "3" so write the Table of "3" on Left and Table of "3" on Right

Table of 3

Table of 3

L)

33x01=03+03
33x02=06+06
33x03=09+09
33x04=12+12
33x05=15+15
33x06=18+18
33x07=21+21
33x08=24+24
33x09=27+27
33x10=30+30

Step 2

Werite in Times Table Format

Box with

poE e TN s e darkbon

33x01=03+0)3 33x01=03|3
33x02H06+0]6 33x02-06]6
33x0309+0|9 33x03-009(9
33x04412+1)2 33x0441 3|2
33x05415+1]5 33x0541 6|5
33x06=18+1]|8 33x06419]8
33x07521+2]1 33x0742 3]1
33x08=24+2|4 33x08=26]4
33x0927+2[7 33x09-29(7
33x10530+3]0 33x10+33]0

Step 3 Step 4

Draw a box with complete left side

Write the result after adding

& insert "+" sign between them digits & only 1 digit from right side the numbers in box
33x01=033 33x06=198
33x02=066 33x07=231 M
33x03=099 33x08=264

Suffix the digit remaining outside the
33x04=132 33x09=297 box to the result

And finally you have the TABLE of 33!
33x05=165 33x10=330




Do It Yourself'!

Table of 33

Table of 3 bJ Z/i Table of 3

Step 1: Number "33" contains digit "3" & "3" so write the Table of "3" on Left and Table of "3" on Right

Table of 3, g; :ab'e o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
33x01= + 33x014H + 33x01=
33x02= + 33x024 + 33x02=
33x03= + 33x035 + 33x03=
33x04= + 33x045 + 33x04=
33x05=+ 33x05 + 33x05=
33x06= + 33x06= + 33x06=
33x07= + 33x07 + 33x07=
33x08=+ 33x08= + 33x08=
33x09= + 33x094 + 33x09=
33x10= + 33x104H + 33x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

33x01=
33x02=
33x03=
33x04=
33x05=

33x06=
33x07=
33x08=
33x09=
33x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 33!




Do It Yourself'!

Table of 33

. 533,




Table of 34

B3

0 3()6()9

15

1 82 1|2 4

27

0 4

1 211 6{2 0

30

2 4

2 813 2|/36/30

Step 1: Number "34" contains digit "3" & "4" so write the Table of "3" on Left and Table of "4" on Right

Table of 4

Table of 3

Box

with

| 7971 i nedmeoon)
34x01=03+04 34x01=03+0}4 34x01-034
34x02=06+08 34x02=06+0|8 34x02-06]8
34x03=09+12 34x03=09+1|2 34x03=10]2
34x04=12+16 34x04412+1]6 34x04=1 3]6
34x05=15+20 34x05515+2|0 34x05=17]0
34x06=18+24 34x06=18+2|4 34x06=20/4
34x07=21+28 34x07F21+2|8 34x07=2 3|8
34x08=24+32 34x08=24+3|2 34x08F27]2
34x09=27+36 34x09=27+3|6 34x09=30|6
34x10=30+40 34x10=30+4|0 34x10=34|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

34x01=034
34x02=068
34x03=102
34x04=136

34x05=170

34x06=204
34x07=2138
34x08=272
34x09=30¢

34x10=340

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 34!




Do It Yourself'!

Table of 34

Table of 3 bJ Z/i Table of 4

Step 1: Number "34" contains digit "3" & "4" so write the Table of "3" on Left and Table of "4" on Right

Table of 3, g :able ot ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
34x01=  + 34x015 + 34x01=
34x02=  + 34x02= + 34x02=
34x03= + 34x03= + 34x03=
34x04=  + 34x04= + 34x04=
34x05=  + 34x05= + 34x05=
34x06=  + 34x06= + 34x06=
34x07=  + 34x07= + 34x07=
34x08= + 34x08= + 34x08=
34x09= + 34x09= + 34x09=
34x10= + 34x105 + 34x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

34x01=
34x02=
34x03=
34x04=
34x05=

34x06=
34x07=
34x08=
34x09=
34x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 34!




Do It Yourself'!

Table of 34

. 538 .




Table of 35

PR/

0 3()6()9

15

1 82 1|2 4

27

05

1 512 0(2 5

30

30

35404550

Step 1: Number "35" contains digit "3" & "5" so write the Table of "3" on Left and Table of "5" on Right

Table of

Table of 3

Box

with

| 797 ol nedmeoon)
35x01=03+05 35x01=03+0)5 35x01+03]5
35x02=06+10 35x02=06+1{0 35x02=07]0
35x03=09+15 35x03H09+ 1|5 35x03=105
35x04=12+20 35x04F12+210 35x04=1 4/0
35x05=15+25 35x05515+215 35x05517]5
35x06=18+30 35x06=1 8+ 3|0 35x06=2 110
35x07=21+35 35x07F21+3)5 35x07=245
35x08=24+40 35x08=24+4|0 35x08=2 8|0
35x09=27+45 35x09=27+45 35x09=53 115
35x10=30+50 35x10=30+5|0 35x10=35]0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

35x01=035
35x02=070
35x03=105
35x04=140

35x05=175

35x06=210
35x07=245
35x08=280
35x09=315

35x10=350

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 35!




Do It Yourself'!

Table of 35

Table of 3 ‘_\S Z/A Table of 5

Step 1: Number "35" contains digit "3" & "5" so write the Table of "3" on Left and Table of "5" on Right

Table of 3

Table of

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

35x01=
35x02=
35x03=
35x04=
35x05=
35x06=
35x07=
35x08=
35x09=
35x10=

+

+ + + + + + + 4+ +

35x014 + 35x01=
35x024 + 35x02=
35x03F + 35x03=
35x044 + 35x04=
35x055 + 35x05=
35x06F + 35x06=
35x07H + 35x07=
35x08F + 35x08=
35x095 + 35x09=
35x104H + 35x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

35x01=
35x02=
35x03=
35x04=
35x05=

35x06=
35x07=
35x08=
35x09=
35x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 35!




Do It Yourself'!

Table of 35

. 533 .




Table of 36

536,

0 306

O 9

15 0

1 812 1

2 427

6 1 8/2 4|3 0

30 3

64 214 8|5 4|6 0

Step 1: Number "36" contains digit "3" & "6" so write the Table of "3" on Left and Table of "6" on Right

Table of 3

Table of 6

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

36x01=03+06 36x01=03+0]6 36x01=0 3|6
36x02=06+12 36x02=06+1]2 36x02-072
36x03=09+18 36x03=09+1[8 36x03=1 0|8
36x04=12+24 36x04=12+24 36x04=14)4
36x05=15+30 36x05=15+3J0 36x05=1 8|0
36x06=18+36 36x06=1 8+ 3|6 36x06=|2 1|6
36x07=21+42 36x07=21+4|2 36x07=235|2
36x08=24+48 36x08=|24+4|8 36x08=2 8|8
36x09=27+54 36x09=27+5|4 36x09=324
36x10=30+60 36x10=30+6]0 36x10=36|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
36x01=036 36x06=216
36x02=072 36x07=252
36x03=108 36x08=288
36x04=144 36x09=324
36x05=180 36x10=360

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 36 !




Do It Yourself'!

Table of 36

Table of 3 ‘_\S Z/A Table of 6

Step 1: Number "36" contains digit "3" & "6" so write the Table of "3" on Left and Table of "6" on Right

Tableof 3, g; :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
36x01= + 36x014 + 36x01=
36x02= + 36x024 + 36x02=
36x03= + 36x03= + 36x03=
36x04=  + 36x04= + 36x04=
36x05=  + 36x05= + 36x05=
36x06= + 36x06= + 36x06=
36x07=  + 36x07H + 36x07=
36x08= + 36x08= + 36x08=
36x09= + 36x094 + 36x09=
36x10= + 36x105 + 36x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

36x01=
36x02=
36x03=
36x04=
36x05=

36x06=
36x07=
36x08=
36x09=
36x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 36 !




Do It Yourself'!

Table of 36

. 536 .




Table of 37

PR/

0 306

O 9

15 0

1 812 1

2 427

711 412 1|12 8|3 5

30 -

214 9/56(6 3|/70

Step 1: Number "37" contains digit "3" & "7" so write the Table of "3" on Left and Table of "7" on Right

Table of 3

Table of 7

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

37x01=03+07 |37x01H03+0[7] (37x01=0 3|/
37x02=06+14| 37x02=06+114] |37x02=07}4
37x03=09+21 37x03=09+2]1 37x03411]1
37x04=12+28 |37x04=F12+2|8 [37x04=14|8
37x05=15+35 37x05F15+3|5 [37x05=1 8|5
37x06=18+42 37x06=18+42] |37x06=22|2
37x07=21+49| 37x07F21+49 (37x07=25|9
37x08=24+56| [37x08=24+5|6] |37x08=]29|6
37x09=27+63 (37x09527+6|3] |37x09=3 3|3
37x10=30+70 [37x10530+70] |37x10=37]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
37x01=037 37x06=222
37x02=074 37x07=259
37x03=111 37x08=296
37x04=148 37x09=333
37x05=185 37x10=370

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 37!




Do It Yourself'!

Table of 37

Table of 3 b\S Z/i Table of 7

Step 1: Number "37" contains digit "3" & "7" so write the Table of "3" on Left and Table of "7" on Right

Table of 3

Table of 7

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

37x01=
37x02=
37x03=
37x04=
37x05=
37x06=
37x07=
37x08=
37x09=
37x10=

+

+ + + + + + + 4+ +

37x014 + 37x01=
37x024 + 37x02=
37x035 + 37x03=
37x044 + 37x04=
37x055 + 37x05=
37x06= + 37x06=
37x07H + 37x07=
37x08F + 37x08=
37x095 + 37x09=
37x105 + 37x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

37x01=
37x02=
37x03=
37x04=
37x05=

37x06=
37x07=
37x08=
37x09=
37x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 37!




Do It Yourself'!

Table of 37

537 .




Table of 338

Table of 3 ‘_\S Z/A Table of 8

0 306

09

15 0

1 812 1

2 427

8 2 4/32/40

30 -

815 6/6 4|7 2|8 0

Step 1: Number "38" contains digit "3" & "8" so write the Table of "3" on Left and Table of "8" on Right

Table of 3

Table of 8

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

38x01=03+08 38x01=03+0[8 38x 010 3|8
38x02=06+16 38x02=06+1]6 38x 02076
38x03=09+24 38x03=09+2|4 38x03=1 14
38x04=12+32 38x04=12+3)2 38x04=1 5|2
38x05=15+40 38x05=15+4|0 38x05=1 9|0
38x06=18+48 38x06=18+48 38x06=2 2|8
38x07=21+56 38x07=21+5|6 38x07=2 6|6
38x08=24+64 38x08=|24+6|4 38x08=3 04
38x09=27+72 38x09=27+7)2 38x09=34|2
38x10=30+80 38x10=30+8J0 38x10=3 8|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
38x01=038 38x06=228
38x02=076 38x07=266
38x03=114 38x08=304
38x04=152 38x09=342
38x05=190 38x10=380

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 38!




Do It Yourself'!

Table of 338

Table of 3 ‘_\S Z/A Table of 8

Step 1: Number "38" contains digit "3" & "8" so write the Table of "3" on Left and Table of "8" on Right

Tableof 3, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
38x01= + 38x014 + 38x01=
38x02= + 38x024 + 38x02=
38x03= + 38x03 + 38x03=
38x04= + 38x04= + 38x04=
38x05= + 38x05= + 38x05=
38x06= + 38x06= + 38x06=
38x07= + 38x074H + 38x07=
38x08= + 38x08F + 38x08=
38x09= + 38x094 + 38x09=
38x10= + 38x10+F + 38x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

38x01=
38x02=
38x03=
38x04=
38x05=

38x06=
38x07=
38x08=
38x09=
38x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 38!




Do It Yourself'!

Table of 338

. 538 .




Table of 39

PR L/N

0 306

O 9

15 0

1 812 1

2 427

9 2 7(3 6/45

30 5

416 3|7 2(8 1|9 0

Step 1: Number "39" contains digit "3" & "9" so write the Table of "3" on Left and Table of "9" on Right

Table of 3

Table of 9

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

390x01=03+09 [39x01H03+019] |139x01=03(9
390x02=06+18 39x0206+1|8 [39x02=07]8
39x03=09+27 39x0309+2[7] [39x03411{7
390x04=12+36] (39x04=12+3|6] [39x04=15]6
390x05=15+45 139x05F15+45 [39x05=19|5
390x06=18+54| [39x06=18+54 |39x06=|23}4
39x07=21+63| 39x07=21+6|3] [39x07=27|3
390x08=24+72| [39x08=24+72] |39x08=3 1|2
39x09=27+81 39x09=27+38|1 39x09=335]1
390x10=30+90, [39x10=30+9[0] |39x10=39]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
39x01=039 39x06=234
39x02=078 39x07=273
39x03=117 39x08=312
39x04=156 39x09=351
39x05=195 39x10=390

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 39!




Do It Yourself'!

Table of 39

Table of 3 ‘_\S Z/A Table of 9

Step 1: Number "39" contains digit "3" & "9" so write the Table of "3" on Left and Table of "9" on Right

Tableof 3, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
39x01=  + 39x014 + 39x01=
39x02= + 39x024 + 39x02=
39x03= + 39x03 + 39x03=
39x04= + 39x04= + 39x04=
39x05= + 39x05= + 39x05=
39x06=  + 39x065 + 39x06=
39x07= + 39x074H + 39x07=
39x08= + 39x08= + 39x08=
39x09= + 39x095 + 39x09=
39x10= + 39x104H + 39x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

39x01=
39x02=
39x03=
39x04=
39x05=

39x06=
39x07=
39x08=
39x09=
39x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 39!




Do It Yourself'!

Table of 39

.53 .




Table of 40

Table of 4 ‘_\S Z/i Table of O

0 4

0 8

1 2

20

2 4

2 8

3 2

00

0000

0

0

36/30

00

00

0000

0

0

Step 1: Number "40" contains digit "4" & "0" so write the Table of "4" on Left and Table of "0" on Right

Table of O

Box

with

B T AR vt N e o
40x01=04+00, |40x01=04+0]0] [40x01=040
40x02=08+00, |40x02=08+0]0] [40x02=08|0
40x03=12+00, |40x03=12+0j0| 40x03=12]0
40x04=16+00, |40x04=16+0]0| [40x04=16|0
40x05=20+00, |40x05=20+0j0] 40x05=20]0
40x06=24+00, |40x06=24+0|0|] 40x06=24|0
40x07=28+00, |40x07=28+0|0|] [40x07=28|0
40x08=32+00, |40x08=32+0|0] 40x08=32|0
40x09=36+00] [40x09=536+0[0] [40x09=36]|0
40x10=40+00, |40x10=40+0j0| 40x10=40]0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

40x01=040
40x02=080
40x03=120
40x04=160

40x05=200

40x06=240
40x07=280
40x08=320
40x09=360

40x10=400

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 40!




Do It Yourself'!

Table of 40

Table of 4 bJ Z/i Table of O

Step 1: Number "40" contains digit "4" & "0" so write the Table of "4" on Left and Table of "0" on Right

Table of 4, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
40x01= + 40x014 + 40x01=
40x02= + 40x02 + 40x02=
40x03= + 40x035 + 40x03=
40x04= + 40x04+ + 40x04=
40x05= + 40x055 + 40x05=
40x06= + 40x06= + 40x06=
40x07= + 40x07 + 40x07=
40x08= + 40x08 + 40x08=
40x09= + 40x094 + 40x09=
40x10= + 40x104H + 40x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

40x01=
40x02=
40x03=
40x04=
40x05=

40x06=
40x07=
40x08=
40x09=
40x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 40!




Do It Yourself'!

Table of 40

LS80




Table of 41

S

0 40 8

12

20 01 0 310 4]0 5

2 4|28

32|36

30 0607080910

Step 1: Number "41" contains digit "4" & "1" so write the Table of "4" on Left and Table of "1" on Right

Table of 4

Table of 1

L

Box with N
ALL digits of left side \ o Add the digits l
& ONE digit of right side inside the dark box

41x01=04+01 41x01=04+0}1 41x01+04{]
41x02=08+02| |41x02=08+0J2] 41x02=08§|2
41x03=12+03] 41x03=12+0]13] 41x03=12|3
41x04=16+04| 41x04=16+0}4 |41x04=1 64
41x05=20+05 41x05=20+0]5| 41x05=20|5
41x06=24+06] 41x06=24+0|6] |41x06=24|6
41x07=28+07 41x07=28+0|7| |41x07=28|7
41x08=32+08 41x08=32+0|8] |41x08=32|8
41x09=36+09] 41x09=36+0[9] [41x09=36|9
41x10=40+10] |41x10=40+110] |41x10=41]0
Step 2 Step 3 Step 4

Write in Times Table Format Draw a box with complete left side ~ Write the result after adding
& insert “+" sign between them  digits & only 1 digit from right side the numbers in box
41x01=041 41x06=246

41x02=082
41x03=123
41x04=164
41x05=205

41x07=287 /\/\
41x08=328

Suffix the digit remaining outside the

41x09=369 box to the result.
41x10=410

And finally you have the TABLE of 41!




Do It Yourself'!

Table of 41

Table of 4 bJ Z/i Table of 1

Step 1: Number "41" contains digit "4" & "1" so write the Table of "4" on Left and Table of "1" on Right

Table of 1

Box with

UL sy el
41x01= + 41x01+ + 41x01=
41x02= + 41x025 + 41x02=
41x03=  + 41x03= + 41x03=
41x04= + 41x045 + 41x04=
41x05= + 41x055 + 41x05=
41x06= + 41x06= + 41x06=
41x07= + 41x075 + 41x07=
41x08= + 41x08= + 41x08=
41x09=+ 41x094 + 41x09=
41x10= + 41x10 + 41x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

41x01=
41x02=
41x03=
41x04=
41x05=

41x06=
41x07=
41x08=
41x09=
41x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 41!




Do It Yourself'!

Table of 41

RELIR




Table of 42

Table of 4 ‘_\S Z/A Table of 2

0 40 8|1 2

20

2 4|2 8|3 2

36

0 2

060 8|1 0

30

1 2

1 4/1 6|1 8/2 0

Step 1: Number "42" contains digit "4" & "2" so write the Table of "4" on Left and Table of "2" on Right

Table of 2

Box

with

TV i, e oo
472x01=04+02 42x01=04+0|2 42 x 01042
47x02=08+04 42x02=08+0}4 47 x 020 8|4
42x03=12+06 42x03=12+0]6 42x03=1 2|6
47x04=16+08 42x04=16+0|8 47 x 041 6|3
472x05=20+10 42x05520+110 47 x05=2 110
42x06=24+12 42x06=24+1}|2 472 x06=2 5|2
42x07=28+14 42x07=28+ 114 472 x 07294
42x08=32+16 42x08=32+11]6 42 x08=3 3|6
42x09=36+18 42x09=36+ 1|8 42x093 718
42x10=40+20 42x10=40+2|0 42x10=4 2|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

42x01=042
42x02=084
42x03=126
42x04=168

42x05=210

42x06=252
42x07=294
42x08=336
42x09=378

42x10=420

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 42!




Do It Yourself'!

Table of 42

Table of 4 bJ Z/i Table of 2

Step 1: Number "42" contains digit "4" & "2" so write the Table of "4" on Left and Table of "2" on Right

Table of 2

Box with

UL sy el
42x01= + 42x01+ + 42x01=
42x02= + 42x025 + 42x02=
42x03=  + 42x03= + 42x03=
42x04= + 42x04=5 + 42x04=
42x05= + 42x055 + 42x05=
42x06= + 42x06= + 42x06=
42x07= + 42x075 + 42x07=
42x08= + 42x08= + 42x08=
42x09=+ 42x09 + 42x09=
42x10= + 42x10= + 42x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

42x01=
42x02=
42x03=
42x04=
42x05=

42x06=
42x07=
42x08=
42x09=
42x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 42!




Do It Yourself'!

Table of 42

L SB2)




Table of 43

S

0 40 8

12

20 0 3 0911 2|15

2 4|28

32|36

30 1 82 1|2 412 7|30

Step 1: Number "43" contains digit "4" & "3" so write the Table of "4" on Left and Table of "3" on Right

Table of 3

Box with

TV i e oo
43x01=04+03 43x01=04+ 43x01=04
43x02=08+06 43x02=08+ 43x02-08
43x03=12+09 43x03512+ 43x03+12
43x04=16+12 43x04=16+ 43x04=17
43x05=20+15 43x05=20+ 43x05-21
43x06=24+18 43x06=24+ 43x06=25
43x07=28+21 43x07=2 8+ 43x07-30
43x08=32+24 43x08=32+ 43x08=34
43x09=36+27 43x09=36+ 43x09538
43x10=40+30 43x10=40+ 43x10=43

Step 2 Step 3 Step 4
Write in Times Table Format Draw a box with complete left side Write the result after adding
& insert “+" sign between them digits & only 1 digit from right side the numbers in box
43x01=043 43x06=258

43x02=086
43x03=129
43x04=172
43x05=215

43x07=301 M
43x08=344

Suffix the digit remaining outside the

43x09=387 box to the result.
43x10=430

And finally you have the TABLE of 43!




Do It Yourself'!

Table of 43

Table of 4 bJ Z/i Table of 3

Step 1: Number "43" contains digit "4" & "3" so write the Table of "4" on Left and Table of "3" on Right

Table of 4, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
43x01= + 43x015 + 43x01=
43x02= + 43x02= + 43x02=
43x03=+ 43x035 + 43x03=
43x04= + 43x04= + 43x04=
43x05= + 43x055 + 43x05=
43x06= + 43x06= + 43x06=
43x07= + 43x07 + 43x07=
43x08= + 43x08 + 43x08=
43x09= + 43x094 + 43x09=
43x10= + 43x10H + 43x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

43x01=
43x02=
43x03=
43x04=
43x05=

43x06=
43x07=
43x08=
43x09=
43x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 43!




Do It Yourself'!

Table of 43

L S83)




Table of 44

LS

0 40 8

12

20 0

2 4|28

32|36

= 1 211 6{2 0

30 2

412 813 213 6(3 0

Step 1: Number "44" contains digit "4" & "4" so write the Table of "4" on Left and Table of "4" on Right

Table of 4

Table of 4

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

44x01=04+04| 44x01=04+0}4| |44x01=04}4
44x02=08+08 |44x02=08+0f8 44x02=038|8
44x03=12+12| 44x03=12+1]2| |44x031 3|2
44x04=16+16] 44x04=16+1|6] 44x04=17|6
44x05=20+20] 44x05=20+2|0] |44x05=22|0
44x06=24+24| 44x06=24+2|4| |44x06=26}4
44x07=28+28 44x07=28+2|8] |44x07=30|8
44x08=32+32| |44x08=32+3J2] 44x08=35]2
44x09=36+36] |44x09=36+3|6] [44x09=39|6
44x10=40+40] 44x10=40+4{0] |44x10=44|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
44x01=044 44x06=264
44x02=088 44x07=308
44x03=132 44x08=352
44x04=176 44x09=396
44x05=220 44x10=440

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 44 !




Do It Yourself'!

Table of 44

Table of 4 bJ Z/i Table of 4

Step 1: Number "44" contains digit "4" & "4" so write the Table of "4" on Left and Table of "4" on Right

Table of 4

Box with

UL sy el
44x01= + 44x01+ + 44x01=
44x02= + 44x025 + 44x02=
44x03= + 44x035 + 44x03=
44x04= + 44x04=5 + 44x04=
44x05= + 44x055 + 44x05=
44x06= + 44x06= + 44x06=
44x07= + 44x075 + 44x07=
44x08= + 44x08= + 44x08=
44x09= + 44x09= + 44%09=
44x10= + 44x10= + 44x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

44x01=
44x02=
44x03=
44x04=
44x05=

44x06=
44x07=
44x08=
44x09=
44x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 44 !




Do It Yourself'!

Table of 44

LS




Table of 45

PR

0 40 8 12

20

2 4|2 8|3 2

36

05

1 5(2 0(2 5

30

30

35404550

Step 1: Number "45" contains digit "4" & "5" so write the Table of "4" on Left and Table of "5" on Right

Table of

Table of 4

Box

with

|97 i\ nedmcoor)
45x01=04+05 45x01=04+0]5 45x01=04|5
45x02=08+10 45x02=08+1]0 45x02=09|0
45x03=12+15 45x03=12+1|5 45x0341 3|5
45x04=16+20 45x04=16+2|0 45x04=1 8|0
45x05=20+25 45x05=20+2|5 45x05=22|5
45x06=24+30 45x06=24+ 3|0 45x06=2710
45x07=28+35 45x07=28+ 3|5 45x07=31|5
45x08=32+40 45x08=32+4|0 45x08=3 6|0
45x09=36+45 45x09=36+4|5 45x09=40|5
45x10=40+50 45x10=40+5]0 45x10=435|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

45x01=045
45x02=090
45x03=135
45x04=180

45x05=225

45x06=270
45x07=315
45x08=360
45x09=405

45x10=450

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 45!




Do It Yourself'!

Table of 45

Table of 4 ‘_\S Z/A Table of 5

Step 1: Number "45" contains digit "4" & "5" so write the Table of "4" on Left and Table of "5" on Right

Table of

Box with

UL sy el
45x01= + 45x01+ + 45x01=
45x02= + 45x02 + 45x02=
45x03= + 45x03= + 45x03=
45x04= + 45x045 + 45x04=
45x05= + 45x055 + 45x05=
45x06= + 45x06= + 45x06=
45x07= + 45x075 + 45x07=
45x08= + 45x08= + 45x08=
45x09=+ 45x09 + 45x09=
45x10= + 45x10 + 45x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

45x01=
45x02=
45x03=
45x04=
45x05=

45x06=
45x07=
45x08=
45x09=
45x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 45!




Do It Yourself'!

Table of 45

LS9,




Table of 46

586,

0 40 8

12

20 0

2 4|28

32|36

6 1 8/2 4|3 0

30 3

64 214 8|5 4|6 0

Step 1: Number "46" contains digit "4" & "6" so write the Table of "4" on Left and Table of "6" on Right

Table of 4

Table of 6

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

46x01=04+06 46x01=04+0]6 46x01-04|6
46x02=08+12 46x02=08+1}|2 46x02=009]2
46x03=12+18 46x03=12+1|8 46x03=1 3|8
46x04=16+24 46x04=16+2|4 46x04=1 8|4
46x05=20+30 46x05=20+3|0 46x05=2 3]0
46x06=24+36 46x06=24+3|6 46x06=27\6
46x07=28+42 46x07=28+4|2 46x07=32|2
46x08=32+48 46x08=32+4|8 46x08=36[8
46x09=36+54 46x09=36+5)4 46x09=41)4
46x10=40+60 46x10=40+6|0 46x10=46]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
46x01=046 46x06=276
46x02=092 46x07=322
46x03=138 46x08=368
46x04=184 46x09=414
46x05=230 46x10=460

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 46 !




Do It Yourself'!

Table of 46

Table of 4 ‘_\S Z/A Table of 6

Step 1: Number "46" contains digit "4" & "6" so write the Table of "4" on Left and Table of "6" on Right

Tableof 4, :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
46x01= + 46x015 + 46x01=
46x02= + 46x02= + 46x02=
46x03= + 46x035 + 46x03=
46x04= + 46x04= + 46x04=
46x05= + 46x054 + 46x05=
46x06= + 46x065 + 46x06=
46x07= + 46x07 + 46x07=
46x08= + 46x08 + 46x08=
46x09= + 46x095 + 46x09=
46x10= + 46x105 + 46x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

46x01=
46x02=
46x03=
46x04=
46x05=

46x06=
46x07=
46x08=
46x09=
46x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 46 !




Do It Yourself'!

Table of 46

. SR6)




Table of 47

LSH L

0 40 8

12

20 0

2 4|28

32|36

711 412 1|12 8|3 5

30 -

214 9/56(6 3|/70

Step 1: Number "47" contains digit "4" & "7" so write the Table of 4" on Left and Table of "7" on Right

Table of 4

Table of 7

L

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

47x01=04+07 47x01=504+0]7| |47x01=04|7
47x02=08+14] |47x02=08+1|4 47x02=09}4
47x03=12+21] 47x03=12+2]1| [47x03=14|l
47x04=16+28 47x04=16+2|8] |47x04=1 |8
47x05=20+35 47x05=20+3|5| 47x05=23|5
47x06=24+42| 47x06=24+4]2| |47x06=2 8|2
47x07=28+49| 47x07=28+4|19] 47x07=32|9
47x08=32+56] 47x08=32+5|6] [47x08=37|6
47x09=36+63] 47x09=36+6|3] 47x09=42|3
47x10=40+70] 47x10=40+7|0| |47x10=47|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
47x01=047 47x06=282
47x02=094 47x07=329
47x03=141 47x08=376
47x04=188 47x09=423
47x05=235 47x10=470

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 47 !




Do It Yourself'!

Table of 47

Table of 4 b\S Z/i Table of 7

Step 1: Number "47" contains digit "4" & "7" so write the Table of 4" on Left and Table of "7" on Right

Table of 7

Box with

UL sy el
47x01= + 47x01+ + 47x01=
47x02= + 47x02= + 47x02=
47x03= + 47x035 + 47x03=
47x04= + 47x04=5 + 47x04=
47x05= + 47x055 + 47x05=
47x06= + 47x06= + 47x06=
47x07= + 47x075 + 47x07=
47x08= + 47x08= + 47x08=
47x09=+ 47x09 + 47x09=
47x10= + 47x10= + 47x10=

sz step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

47x01=
47x02=
47x03=
47x04=
47x05=

47x06=
47x07=
47x08=
47x09=
47x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 47 !




Do It Yourself'!

Table of 47

S




Table of 48

Table of 4 ‘_\S Z/A Table of 8

0 4

0 8

1 2

20

2 4

2 8

3 2

0 8

2 4|3 2

4

0

36/30

4 8

56

6 4|7 2

8

0

Step 1: Number "48" contains digit "4" & "8" so write the Table of "4" on Left and Table of "8" on Right

Table of 8

Box

with

TV i e oo
48x01=04+08 48x01=04+0|% A48 x 01048
48x02=08+16 48x02=08+11]6 48 x02-09|6
48x03=12+24 48x03512+2|4 48x0314)4
48x04=16+32 48x04=16+3|2 A48x04=19|2
48x05=20+40 48x05=20+4|0 48x05=24|0
48x06=24+48 48x06=24+4% 48x06=2 8|8
48x07=28+56 48x07=28+5]6 4 8x07=3 3|6
48x08=32+64 48x08=32+6/4 48x08=3 8|4
48x09=36+72 48x09=36+7|2 48x09=4 3|2
48x10=40+80 48x10=40+8|0 48x10=4 8|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

48x01=048
48x02=096
48x03=144
48x04=192

48x05=240

48x06=288
48x07=336
48x08=384
48x09=432

48x10=480

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 48 !




Do It Yourself'!

Table of 48

Table of 4 ‘_\S Z/A Table of 8

Step 1: Number "48" contains digit "4" & "8" so write the Table of "4" on Left and Table of "8" on Right

Tableof 4, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
48x01= + 48x015 + 48x01=
48x02= + 48x02= + 48x02=
48x03=+ 48x03 + 48x03=
48x04= + 48x04= + 48x04=
48x05= + 48x054 + 48x05=
48x06= + 48x06= + 48x06=
48x07= + 48x07 + 48x07=
48x08= + 48x08= + 48x08=
48x09= + 48x094 + 48x09=
48x10= + 48x105 + 48x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

48x01=
48x02=
48x03=
48x04=
48x05=

48x06=
48x07=
48x08=
48x09=
48x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 48 !




Do It Yourself'!

Table of 48

. SA8)




Table of 49

PR/

0 40 8 12

20

2 4|2 8|3 2

36

09

2 7|3 6(4 5

30

5 4

6 3/7 2|8 1190

Step 1: Number "49" contains digit "4" & "9" so write the Table of "4" on Left and Table of "9" on Right

Table of 9

Table of 4

Box

with

LT aowimreenieN it e oony
49x01=04+09] 49x01=04+019] 49x01=04|9
49x02=08+18 |49x02=08+1I8 49x02=009]8
49x03=12+27 49x03=12+2|7| |49x03=14|7
49x04=16+36] 49x04=16+3|6|] 49x04=19|6
49x05=20+45 49x05=20+4|5| 49x05=24|5
49x06=24+54| 49x06=24+5|4 |49x06=294
49x07=28+63] 49x07=28+6|]3] 49x07=34|3
49x08=32+72 49x08=32+72] [49x08=39|2
49x09=36+81 49x09=36+8|1 49x09=4 4|l
49x10=40+90] 49x10=40+9|0| |49x10=49|0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

49x01=049
49x02=098
49x03=147
49x04=196

49x05=245

49x06=294
49x07=343
49x08=392
49x09=441

49x10=490

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 49 !




Do It Yourself'!

Table of 49

Table of 4 ‘_\S Z/A Table of 9

Step 1: Number "49" contains digit "4" & "9" so write the Table of "4" on Left and Table of "9" on Right

Tableof 4, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
49x01= + 49x014 + 49x01=
49x02= + 49x024 + 49x02=
49x03= + 49x035 + 49x03=
49x04= + 49x04= + 49x04=
49x05= + 49x054 + 49x05=
49x06= + 49x06= + 49x06=
49x07= + 49x07 + 49x07=
49x08= + 49x08 + 49x08=
49x09=  + 49x094 + 49x09=
49x10= + 49x104H + 49x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

49x01=
49x02=
49x03=
49x04=
49x05=

49x06=
49x07=
49x08=
49x09=
49x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 49 !




Do It Yourself'!

Table of 49

. SB9




Table of 50

Table of 5 ‘_\S Z/i Table of O

05

1 0

15

25

00

0000

0

0

30

35

4 0

4 5|50

00

00

0000

0

0

Step 1: Number "50" contains digit "5" & "0" so write the Table of "5" on Left and Table of "0" on Right

Table of O

Box

with

B T i AR vt N e e e
50x01=054+00 50x01=05+0]0 50x01=0 5/0
50x02=10+00 50x02=10+0]0 50x02=1 00
50x03=15+00] [50x03515+0J0] |50x03=1 5|0
50x04=20+00 50x04=20+0]0 50x04=20]0
50x05=254+00 50x05=25+0]0 50x05+2 5|0
50x06=30+00] [50x06=30+0J0] |50x06=|30]0
50x07=35+00] [50x07H35+0J0] |50x07=3 5|0
50x08=40+00 50x08=40+0]0 50x08=40]0
50x09=45+00 50x09=45+0]0 50x09=4 5|0
50x10=50+00 50x10=50+0]0 50x10=500

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

50x01=050
50x02=100
50x03=150
50x04=200

50x05=250

50x06=300
50x07=350
50x08=400
50x09=450

50x10=500

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 50 !




Do It Yourself'!

Table of 50

Table of 5 bJ Z/i Table of O

Step 1: Number "50" contains digit "5" & "0" so write the Table of "5" on Left and Table of "0" on Right

Table of 5

Table of O

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

50x01=
50x02=
50x03=
50x04=
50x05=
50x06=
50x07=
50x08=
50x09=
50x10=

+

+ + + + + + + 4+ +

50x014 + 50x01=
50x025 + 50x02=
50x035 + 50x03=
50x044 + 50x04=
50x054 + 50x05=
50x06= + 50x06=
50x07H + 50x07=
50x08 + 50x08=
50x095 + 50x09=
50x10H + 50x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

50x01=
50x02=
50x03=
50x04=
50x05=

50x06=
50x07=
50x08=
50x09=
50x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 50 !




Do It Yourself'!

Table of 50

. 530 .




Table of 51

3

0510 15 25 01 0 310 4]0 5

30[(35/40(45|50 0607080910

Step 1: Number "51" contains digit "5" & "1" so write the Table of "5" on Left and Table of "1" on Right

Table of 1 Box with

Table of 5

LT aowimraenieN it e aoony
51x01=05+01 51x01=05+0]1 51x01+035]1
51x02=10+02] 51x02H10+0)2 [51x02=10|2
51x03=15+03] |51x03F15+0f3] [51x0315]|3
51x04=20+04] |51x04=20+0}4 |51x04=204
51x05=25+05] |51x05525+0f5| [51x0525]5
51x06=30+06] |51x06=F30+06|] [5S1x06=30]6
51x07=35+07 |51x07H35+0[7 [51x07=35]7
51x08=40+08 [51x08=40+0[8 |51x08&8=40|8
51x09=45+09] 51x09=45+0]19] [S1x09=4)5|9
51x10=50+10] 5Ix10H50+1]0] [51Tx10=51{0

Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding

& insert "+" sign between them digits & only 1 digit from right side the numbers in box
51x01=051 51x06=306
51x02=102 51x07=357 /\/\
51x03=153 351x08=408

Suffix the digit remaining outside the
51x04=204 51x09=459 box to the result

And finally you have the TABLE of 51!
51x05=255 51x10=510




Do It Yourself'!

Table of 51

Table of 5 bJ Z/i Table of 1

Step 1: Number "51" contains digit "5" & "1" so write the Table of "5" on Left and Table of "1" on Right

Table of 1

Box with

U e ]
51x01=+ 51x01+ + 51x01=
51x02= + 51x02+ + 51x02=
51x03=+ 51x03+ + 51x03=
51x04= + 51x04= + 51x04=
51x05= + 51x05+ + 51x05=
51x06= + 51x06= + 51x06=
51x07= + 51x07+ + 51x07=
51x08= + 51x08= + 51x08=
51x09= + 51x09= + 51x09=
51x10=+ 51x10+ + 51x10=

Step 2

Werite in Times Table Format

& insert "+" sign between them

Step 3
Draw a box with complete

digits & only 1 digit from right side

51x01=
51x02=
51x03=
51x04=
51x05=

51x06=
51x07=
51x08=
51x09=
51x10=

Step 4
Write the result after adding
the numbers in box

left side

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 51!




Do It Yourself'!

Table of 51

L LR




Table of 52

Table of 5 ‘_\S Z/A Table of 2

0511 0|1 5

25

0 2

060 8|1 0

303540

4 5

50

1 2

1 4/1 6|1 8/2 0

Step 1: Number "52" contains digit "5" & "2" so write the Table of "5" on Left and Table of "2" on Right

Table of 2

Table of 5

Box

with

LT aowimreenieN it e aoon
52x01=05+02] |[52x01H05+0J2| [|52x01=035|2
52x02=10+04] [52x02510+0}4] [52x02=10}4
52x03=15+06] |52x03=15+0f6] [52x03=15]6
52x04=20+08 |[52x04=20+0]8 [52x04=20|8
52x05=25+10] |52x05=25+1]0 [|52x05=26|0
52x06=30+12] |52x06=30+1J]2| [|52x06=3 1|2
52x07=35+14] |52x07=35+1}4| |52x07=3 64
52x08=40+16] [52x08=40+1]6] [52x08=41|6
52x09=45+18 |[52x09=45+1|8 [52x09=46|8
52x10=50+20] 52x10H50+2]0] [52x10=52[0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

52x01=052
52x02=104
52x03=156
52x04=208

52x05=260

52x06=312
52x07=364
52x08=416
52x09=468

52x10=520

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 52 !




Do It Yourself'!

Table of 52

Table of 5 bJ Z/i Table of 2

Step 1: Number "52" contains digit "5" & "2" so write the Table of "5" on Left and Table of "2" on Right

Table of 2

Box with

U e ]
52x01= + 52x01+ + 52x01=
52x02=  + 52x02+ + 52x02=
52x03= + 52x03+ + 52x03=
52x04= + 52x04= + 52x04=
52x05= + 52x05+ + 52x05=
52x06=  + 52x064 + 52x06=
52x07=  + 52x074 + 52x07=
52x08= + 52x08= + 52x08=
52x09=  + 52x09+ + 52x09=
52x10= + 52x10+ + 52x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

52x01=
52x02=
52x03=
52x04=
52x05=

52x06=
52x07=
52x08=
52x09=
52x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 52 !




Do It Yourself'!

Table of 52

.92




Table of 53

PR/

05

1 0

15

25

30

35

4 0

0 3

091 2

1

5

4 5|50

1 8

2 1

2 427

3

0

Step 1: Number "53" contains digit "5" & "3" so write the Table of "5" on Left and Table of "3" on Right

Table of 3

Box

with

IV I e oo
53x01=05+03 53x01505+0]3 53x01=05]3
53x02=10+06 53x02=10+0]6 53x02+10l6
53x03=15+09 53x03=15+0|9 53x031 5/9
53x04=20+12 53x04=20+1)2 53x0442 112
53x05=25+15 53x05525+1]5 53x05-26]|5
53x06=30+18 53x06=30+1]8 53x0643 1|8
53x07=35+21 53x07=35+2]1 53x07=37]1
53x08=40+24 53x08=40+2)4 53x08=42}4
53x09=45+27 53x09=45+2|7 53x09=4"7]7
53x10=50+30 53x10=50+3j0 53x1055 3|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

53x01=053
53x02=106
53x03=159
53x04=212

53x05=265

53x06=318
53x07=371
53x08=424
53x09=477

53x10=530

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 53!




Do It Yourself'!

Table of 53

Table of 5 bJ Z/i Table of 3

Step 1: Number "53" contains digit "5" & "3" so write the Table of "5" on Left and Table of "3" on Right

Table of 5

Table of 3

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

53x01=
53x02=
53x03=
53x04=
53x05=
53x06=
53x07=
53x08=
53x09=
53x10=

+

+ + + + + + + 4+ +

53x014 + 53x01=
53x024 + 53x02=
53x034H + 53x03=
53x044 + 53x04=
53x055 + 53x05=
53x065 + 53x06=
53x07H + 53x07=
53x08F + 53x08=
53x094H + 53x09=
53x10H + 53x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

53x01=
53x02=
53x03=
53x04=
53x05=

53x06=
53x07=
53x08=
53x09=
53x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 53!




Do It Yourself'!

Table of 53

533 .




Table of 54

P

0 51 01 5

25

303540

4 5

0 4

1 211 6{2 0

50

2 4

2 813 2|/36/30

Step 1: Number "54" contains digit "5" & "4" so write the Table of "5" on Left and Table of "4" on Right

Table of 4

Table of 5

Box

with

| 797 i e\ nedmcoon)
54x01=05+04 54x01505+0|4 54x01=054
54x02=10+08 54x02=10+0|8 54x 024108
54x03=15+12 54x03F15+1)2 54x03+16]|2
54x04=20+16 54x04=20+ 116 54x04=2 116
54x05=25+20 54x05=25+2|0 54x05=2710
54x06=30+24 54x06=30+2|4 54x06=32/4
54x07=35+28 54x07=35+2|8 54x074H378
54x08=40+32 54x08=40+ 3|2 54x08=4 3|2
54x09=45+36 54x09=45+3|6 54x09=4 8|6
54x10=50+40 54x10550+4|0 54x10=54|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

54x01=054
54x02=108
54x03=162
54x04=216

54x05=270

54x06=324
54x07=378
54x08=432
54x09=486

54x10=540

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 54 !




Do It Yourself'!

Table of 54

Table of 5 bJ Z/i Table of 4

Step 1: Number "54" contains digit "5" & "4" so write the Table of "5" on Left and Table of "4" on Right

Table of 5

Table of 4

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

54x01=
54x02=
54x03=
54x04=
54x05=
54x06=
54x07=
54x08=
54x09=
54x10=

+

+ + + + + + + 4+ +

54x014 + 54x01=
54x024 + 54x02=
54x034 + 54x03=
54x04= + 54x04=
54x054 + 54x05=
54x06= + 54x06=
54x07H + 54x07=
54x08 + 54x08=
54x095 + 54x09=
54x1045 + 54x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

54x01=
54x02=
54x03=
54x04=
54x05=

54x06=
54x07=
54x08=
54x09=
54x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 54 !




Do It Yourself'!

Table of 54

R/




Table of 55

PR N

05|10 15 25 05 1 5/2 02 5
30/35/40(4 5[50 30(35/40(4 5|50
Step 1: Number "55" contains digit "5" & "5" so write the Table of "5" on Left and Table of "5" on Right
Table of 5 Box with

I I e oo
55x01=05+05 55x01505+01]5 55x01=05]5
55x02=10+10 55x02=10+1]0 55x0241 110
55x03=15+15 55x03515+1]5 55x031 6|5
55x04=20+20 55x04=20+2]0 55x04=2 20
55x05=25+25 55x05525+2]5 55x0542 715
55x06=30+30 55x06=30+3|0 55x06=3 3|0
55x07=35+35 55x07=35+3|5 55x07=3 8|5
55x08=40+40 55x08=40+4|0 55x08=4 4|0
55x09=45+45 55x09=45+4|5 55x09=49|5
55x10=50+50 55x10=50+5]0 55x 105510

Step 2 Step 3 Step 4

Write in Times Table Format Draw a box with complete left side Write the result after adding
& insert “+" sign between them digits & only 1 digit from right side the numbers in box

55x01=055
55x02=110
55x03=165
55x04=220

55x05=275

55x06=330
55x07=385
55x08=440
55x09=495
55x10=550

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 55 !




Do It Yourself'!

Table of 55

Table of 5 ‘_\S Z/A Table of 5

Step 1: Number "b5" contains digit "5" & "b" so write the Table of "5" on Left and Table of "5" on Right

Table of

Box with

U e ]
55x01= + 55x01+ + 55x01=
55x02= + 55x02=] + 55x02=
55x03=+ 55x03+ + 55x03=
55x04= + 55x04+ + 55x04=
55x05= + 55x05+5 + 55x05=
55x06= + 55x065 + 55x06=
55x07= + 55x07+ + 55x07=
55x08= + 55x08= + 55x08=
55x09= + 55x094 + 55x09=
55x10=+ 55x10+ + 55x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

55x01=
55x02=
55x03=
55x04=
55x05=

55x06=
55x07=
55x08=
55x09=
55x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 55 !




Do It Yourself'!

Table of 55

RN




Table of 56

536

0 51 01 5

25

303540

4 5

0 6

1 8/2 4|3 0

50

36

4 214 8|5 4/6 0

Step 1: Number "56" contains digit "5" & "6" so write the Table of "5" on Left and Table of "6" on Right

Table of 6

Table of 5

Box

with

| 797 i e nedmeoon)
56x01=05+06 56x01=05+0]6 56x01=051]6
56x02=10+12 56x02=10+1)2 56x0241 112
56x03=15+18 56x03515+118 56x03-1 6|8
56x04=20+24 56x04=20+2)4 56x04=22|4
56x05=25+30 56x05=25+3|0 56x05428|0
56x06=30+36 56x06=30+ 3|6 56x06=3 3|6
56x07=35+42 56x07=35+4|2 56x07=39|2
56x08=40+48 56x08=40+48 56x 08448
56x09=45+54 56x09=45+5|4 56x09=50)4
56x10=50+60 56x10=50+6]0 56x10=56]|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

56x01=056
56x02=112
56x03=168
56x04=224

56x05=280

56x06=336
56x07=392
56x08=448
56x09=504

56x10=560

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 56 !




Do It Yourself'!

Table of 56

Table of 5 ‘_\S Z/A Table of 6

Step 1: Number "56" contains digit "5" & "6" so write the Table of "5" on Left and Table of "6" on Right

Table of 5

Table of 6

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

56x01=
56x02=
56x03=
56x04=
56x05=
56x06=
56x07=
56x08=
56x09=
56x10=

+

+ + + + + + + 4+ +

56x014 + 56x01=
56x024 + 56x02=
56x034 + 56x03=
56x044 + 56x04=
56x054 + 56x05=
56x06= + 56x06=
56x075 + 56x07=
56x08= + 56x08=
56x094 + 56x09=
56x10H + 56x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

56x01=
56x02=
56x03=
56x04=
56x05=

56x06=
56x07=
56x08=
56x09=
56x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 56 !




Do It Yourself'!

Table of 56

. 526 .




Table of 57

PR L/

05

1 0

15

25

30

35

4 0

0 7

412 112 8

3

5

4 5|50

4 2

4 9

56/6 3

7

0

Step 1: Number "57" contains digit "5" & "7" so write the Table of "5" on Left and Table of "7" on Right

Table of 7

Box

with

IV I e oo
57x01=05+07 57x01=05+017 57x01=0 517
57x02=10+14 57x02=10+1|4 57x02-1 114
57x03=15+21 57x03415+2]1 57x03=17]1
57x04=20+28 57x04=20+2|8 57 x04-2 2|8
57x05=25+35 57x05=25+3|5 57x05-2 8|5
57x06=30+42 57x06=30+4|2 57x06=34|2
57x07=35+49 57x07=35+4|9 57x07=39]9
57x08=40+56 57x08=40+ 5|6 57x08=4 516
57x09=45+63 57x09=45+6|3 57x09=51]3
57x10=50+70 57x10550+7]0 57x 105710

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

57x01=057
57x02=114
57x03=171
57x04=228

57x05=285

57x06=342
57x07=399
57x08=456
57x09=513

57x10=570

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 57 !




Do It Yourself'!

Table of 57

Table of 5 b\S Z/i Table of 7

Step 1: Number "57" contains digit "5" & "7" so write the Table of "5" on Left and Table of "7" on Right

Table of 7

Box with

U e ]
57x01= + 57x01+ + 57x01=
57x02=+ 57x02= + 57x02=
57x03= + 57x03= + 57x03=
57x04= + 57x04= + 57x04=
57x05= + 57x05+ + 57x05=
57x06=  + 57x06= + 57x06=
57x07=  + 57x07+ + 57Tx07=
57x08=  + 57x08= + 57x08=
57x09= + 57x09+ + 57x09=
57x10= + 57x10+ + 57x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

57x01=
57x02=
57x03=
57x04=
57x05=

57x06=
57x07=
57x08=
57x09=
57x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 57 !




Do It Yourself'!

Table of 57

521 .




Table of 538

Table of 5 ‘_\S Z/A Table of 8

05

1 0

15

25

30

35

4 0

0 8

2 4|3 2

4

0

4 5|50

4 8

56

6 4|7 2

8

0

Step 1: Number "58" contains digit "5" & "8" so write the Table of "5" on Left and Table of "8" on Right

Table of 8

Box

with

I I e oo
58x01=05+08 58x01505+0]8 58x01=0535]8
58x02=10+16 58x02=10+1]6 58x 021116
58x03=15+24 58x03=15+2)4 58x0341 714
58x04=20+32 58x04=20+3|2 58x04-2 3|2
58x05=25+40 58x05=25+4|0 58x05=29]0
58x06=30+48 58x06=30+4|8 58x06=34|8
58x07=35+56 58x07=35+5]6 58x07=40]6
58x08=40+64 58x08=40+6|4 58x08=4 6|4
58x09=45+72 58x09=45+7|2 58x09=52|2
58x10=50+80 58x10=50+8J0 58x 105 8|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

58x01=058
58x02=116
58x03=174
58x04=232

58x05=290

58x06=348
58x07=406
58x08=464
58x09=522

58x10=580

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 58 !




Do It Yourself'!

Table of 538

Table of 5 ‘_\S Z/A Table of 8

Step 1: Number "58" contains digit "5" & "8" so write the Table of "5" on Left and Table of "8" on Right

Table of 5

Table of 8

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

58x01=
58x02=
58x03=
58x04=
58x05=
58x06=
58x07=
58x08=
58x09=
58x10=

+

+ + + + + + + 4+ +

58x014 + 58x01=
58x024 + 58x02=
58x034 + 58x03=
58x0445 + 58x04=
58x054 + 58x05=
58x065 + 58x06=
58x075 + 58x07=
58x08 + 58x08=
58x094 + 58x09=
58x10H + 58x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

58x01=
58x02=
58x03=
58x04=
58x05=

58x06=
58x07=
58x08=
58x09=
58x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 58 !




Do It Yourself'!

Table of 538

. 528 .




Table of 59

PR L/

0 51 01 5

25

303540

4 5

09

2 7|3 6(4 5

50

5 4

6 3/7 2|8 1190

Step 1: Number "59" contains digit "5" & "9" so write the Table of "5" on Left and Table of "9" on Right

Table of 9

Table of 5

Box

with

LT aowimreenieN it e oony
59x01=05+09] |59x01H05+0[9] [59x01=035|9
50x02=10+18 [59x02=10+1|8 [59x021 1|8
50x03=15+27 |59x03F15+2(7] [59x03417|7
50x04=20+36] |59x04=20+3|6|] [59x04=23|6
50x05=25+45 |59x05525+4{5 [59x05529|5
590x06=30+54] |59x06=30+5}4 [|59x06=354
50x07=35+63] |59x07H35+6[3] [59x07=41]3
50x08=40+72] |59x08=40+7|2| [59x08=47|2
59x09=45+81 59x09=45+38|1 59x09=53]1
59x10=50+90] [59x10550+9]0 [|59x10=59|0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

59x01=059
50x02=118
50x03=177
59x04=236

59x05=295

590x06=354
50x07=413
50x08=472
50x09=531

590x10=590

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 59 !




Do It Yourself'!

Table of 59

Table of 5 ‘_\S Z/A Table of 9

Step 1: Number "59" contains digit "5" & "9" so write the Table of "5" on Left and Table of "9" on Right

Table of 5

Table of 9

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

59x01=
59x02=
59x03=
59x04=
59x05=
59x06=
59x07=
59x08=
59x09=
590x10=

+

+ + + + + + + 4+ +

50x014 + 59x01=
50x025 + 59x02=
50x035 + 59x03=
50x044 + 59x04=
50x055 + 59x05=
59x06= + 59x06=
59x075 + 590x07=
59x08 + 590x08=
50x094H + 59x09=
50x10H + 59x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

590x01=
59x02=
59x03=
59x04=
59x05=

59x06=
59x07=
59x08=
59x09=
59x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 59 !




Do It Yourself'!

Table of 59

5PN .




Table of 60

Table of 6 ‘_\S Z/i Table of 0

0 6

1 2

1 8

30

36

4 2

4 8

00

0000

0

0

5416 0

00

00

0000

0

0

Step 1: Number "60" contains digit "6" & "0" so write the Table of "6" on Left and Table of "0" on Right

Table of O

Box

with

B T i Aot N e e
60x01=06+00, |60x01=06+0|0| [60x01=06|0
60x02=12+00 60x02=512+0]0] [60x02=1 2|0
60x03=18+00] |60x03=18+0|0] [60x03=|18|0
60x04=24+00, 60x04=24+0|0| [60x04=240
60x05=30+00], |60x05=30+0J|0| [60x05=30]0
60x06=36+00, |60x06=36+0|0| [60x06=|36|0
60x07=42+00, |60x07=42+0[0| [60x07=42|0
60x08=48+00 |60x08=48+0[0] [60x08=48|0
60x09=54+00 60x09=554+0]0] |60x09=54|0
60x10=60+00 |60x10=60+0[0] [60x10=60]0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

60x01=060
60x02=120
60x03=180
60x04=240

60x05=300

60x06=360
60x07=420
60x08=480
60x09=540

60x10=600

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 60 !




Do It Yourself'!

Table of 60

Table of 6 bJ Z/i Table of O

Step 1: Number "60" contains digit "6" & "0" so write the Table of "6" on Left and Table of "0" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
60x01= + 60x014 + 60x01=
60x02= + 60x02= + 60x02=
60x03=+ 60x034 + 60x03=
60x04= + 60x04= + 60x04=
60x05= + 60x055 + 60x05=
60x06= + 60x06 + 60x06=
60x07= + 60x075 + 60x07=
60x08= + 60x08= + 60x08=
60x09= + 60x094 + 60x09=
60x10= + 60x105 + 60x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

60x01=
60x02=
60x03=
60x04=
60x05=

60x06=
60x07=
60x08=
60x09=
60x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 60 !




Do It Yourself'!

Table of 60

. 560




Table of 61

AL/

06|12 18 30 01 0 310 405

36(42/428|54/60 0607080910

Step 1: Number "61" contains digit "6" & "1" so write the Table of "6" on Left and Table of "1" on Right

Table of 1 Box with

Table of 6

| 797 ol e\ nedmeoon)
61x01=06+01 61x01=06+0]1 61x01=06]|I1
61x02=12+02 61x02=12+0]2 61x02-12|2
61lx03=18+03 61x03518+0]3 61x03=18|3
61x04=24+04 61x04=24+0|4 61x04=2 4|4
61x05=30+05 61x05530+0]5 61x05=30|5
61x06=36+06 61x06=36+0]6 61x06=|36|6
61x07=42+07 61x07=42+0]|7 61x07=42|7
61 x08=48+08 61x08=48&8+0]8 61 x08=4 8|8
61x09=54+09 61x09=54+0]|9 61x09=54|9
61lx10=60+10 61x10=60+1]0 61x10=61|0
Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding

& insert "+" sign between them digits & only 1 digit from right side the numbers in box
61x01=061 61x06=366
61x02=122 61x07=427 M
61x03=183 61x08=488

Suffix the digit remaining outside the
61x04=244 61x09=549 box to the result

And finally you have the TABLE of 61!
61x05=305 61x10=610




Table of 61

Table of 6 bJ Z/i Table of 1

Step 1: Number "61" contains digit "6" & "1" so write the Table of "6" on Left and Table of "1" on Right

Table of 1 Box with

TUT et sl ecanio]
61x01= + 61x015 + 61x01=
61x02= + 61x025 + 61x02=
61x03= + 61x035 + 61x03=
61x04= + 61x04= + 61x04=
61x05= + 61x055 + 61x05=
61x06= + 61x06= + 61x06=
61x07= + 61x07H + 61x07=
61x08= + 61x08F + 61x08=
61x09= + 61x09 + 61x09=
61x10= + 61x105H + 61x10=

Step 2 Step 3 Step 4
Write in Times Table Format ~ Draw a box with complete left side  Write the result after adding
& insert "+ sign between them digits & only 1 digit from right side the numbers in box
61x01= 61x06=

61x02= 61x07= M
61x03= 61x08=
Suffix the digit remaining outside the

61XO4: 61X09: box to the result.

And finally you have the TABLE of 61!
61x05= 61x10=




Do It Yourself'!

Table of 61

L LR




Table of 62

Table of 6 ‘_\S Z/A Table of 2

0611 2|1 8

30

0 2

060 8|1 0

36/4 248

5 4

6 0

1 2

1 4/1 6|1 8/2 0

Step 1: Number "62" contains digit "6" & "2" so write the Table of "6" on Left and Table of "2" on Right

Table of 2

Table of 6

Box

with

LT aowimreenieN it e oony
62x01=06+02] [62x01H06+0J2| |62x01=06|2
62x02=12+04] [62x02=12+0}4| |62x02=124
62x03=18+06] [62x03=18+0]6|] |62x03=1 8|6
62x04=24+08 [62x04=24+0]8 [62x04=24|8
62x05=30+10] [62x05=30+1]0| [|62x05=31]0
62x06=36+12] [62x06=36+1]2| |62x06=37|2
62x07=42+14] [62x07=42+1}4| |62x07=43}4
62x08=48+16] (62x08=48+1|6] [62x08=49|6
62x09=54+18] [62x09=54+1|8] [62x09=5 5|8
62x10=60+20] [62x10=560+2]0 |62x10=62|0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

62x01=062
62x02=124
62x03=186
62x04=2438

62x05=310

62x06=372
62x07=434
62x08=496
62x09=558

62x10=620

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 62!




Do It Yourself'!

Table of 62

Table of 6 bJ Z/i Table of 2

Step 1: Number "62" contains digit "6" & "2" so write the Table of "6" on Left and Table of "2" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
62x01= + 62x01 + 62x01=
62x02= + 62x02= + 62x02=
62x03= + 62x03 + 62x03=
62x04= + 62x04= + 62x04=
62x05= + 62x05 + 62x05=
62x06= + 62x06= + 62x06=
62x07= + 62x07 + 62x07=
62x08= + 62x08= + 62x08=
62x09= + 62x09= + 62x09=
62x10= + 62x10=5 + 62x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

62x01=
62x02=
62x03=
62x04=
62x05=

62x06=
62x07=
62x08=
62x09=
62x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 62!




Do It Yourself'!

Table of 62

. 562




Table of 63

563 .

0 6

1 2

18

30

36

4 2

4 8

0 3

091 2

1

5

5416 0

1 8

2 1

2 427

3

0

Step 1: Number "63" contains digit "6" & "3" so write the Table of "6" on Left and Table of "3" on Right

Table of 3

Box

with

VI o\ e doebor)
63x01=06+03] 63x01=06+0]3] [63x01=06|3
63x02=12+06] (63x02=|12+0|6 63x02-1 2|6
63x03=18+09] |63x03518+0[9] [63x03=|18|9
63x04=24+12] 63x04=24+1J2| [63x04=25|2
63x05=30+15 63x05530+1}5 [63x0531|5
63x06=36+18 |63x06=36+1|8 [63x06=37|8
63x07=42+21 63x07=42+2|1 63x07=44]1
63x08=48+24| |63x08=48+24 |63x08=50}4
63x09=54+27 [63x09=54+2]7 63x09=5 6|7
63x10=60+30] |63x10=H60+3[0] [63x10=63|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

63x01=063
63x02=126
63x03=189
63x04=252

63x05=315

63x06=378
63x07=441
63x08=504
63x09=567

63x10=630

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 63!




Do It Yourself'!

Table of 63

Table of 6 bJ Z/i Table of 3

Step 1: Number "63" contains digit "6" & "3" so write the Table of "6" on Left and Table of "3" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
63x01= + 63x015 + 63x01=
63x02= + 63x02= + 63x02=
63x03= + 63x035 + 63x03=
63x04= + 63x04= + 63x04=
63x05= + 63x05 + 63x05=
63x06= + 63x06= + 63x06=
63x07= + 63x07 + 63x07=
63x08= + 63x08= + 63x08=
63x09= + 63x09 + 63x09=
63x10= + 63x10=5 + 63x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

63x01=
63x02=
63x03=
63x04=
63x05=

63x06=
63x07=
63x08=
63x09=
63x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 63!




Do It Yourself'!

Table of 63

. 563 .




Table of 64

PR /N

06|12 18

30

36/4 248

5 4

0 4

1 211 6{2 0

6 0

2 4

2 813 2|/36/30

Step 1: Number "64" contains digit "6" & "4" so write the Table of "6" on Left and Table of "4" on Right

Table of 4

Table of 6

Box

with

| 797 i\ nedmcoon)
64x01=06+04 64x01H06+0|4 64x01=06|4
64x02=12+08 64x02=12+0|8 64x02=12|8
64x03=18+12 64x03=18+1|2 64x03=19|2
64x04=24+16 64x04=H24+1]6 64x04=2 5|6
64x05=30+20 64x05=30+2|0 64x05=32|0
64x06=36+24 64x06=36+2|4 64x06=3 8|4
64x07=42+28 64x07=42+2|8 64x07=44|8
64x08=48+32 64x08=48+3|2 64x08=51|2
64x09=54+36 64x09=54+3|6 64x09557]6
64x10=60+40 64x10=60+4|0 64x10=64|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

64x01=064
64x02=128
64x03=192
64x04=256

64x05=320

64x06=384
64x07=448
64x08=512
64x09=576

64x10=640

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 64 !




Do It Yourself'!

Table of 64

Table of 6 bJ Z/i Table of 4

Step 1: Number "64" contains digit "6" & "4" so write the Table of "6" on Left and Table of "4" on Right

Table of 6, g :able ot ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
64x01= + 64x01 + 64x01=
64x02= + 64x02= + 64x02=
64x03= + 64x03= + 64x03=
64x04= + 64x04= + 64x04=
64x05= + 64x05= + 64x05=
64x06= + 64x06= + 64x06=
64x07= + 64x07= + 64x07=
64x08= + 64x08= + 64x08=
64x09= + 64x09= + 64x09=
64x10= + 64x105 + 64x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

64x01=
64x02=
64x03=
64x04=
64x05=

64x06=
64x07=
64x08=
64x09=
64x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 64 !




Do It Yourself'!

Table of 64

. 568




Table of 65

365 .

06|12 18

30

36/4 248

5 4

05

1 5(2 0(2 5

6 0

30

35404550

Step 1: Number "65" contains digit "6" & "5" so write the Table of "6" on Left and Table of "5" on Right

Table of

Table of 6

Box

with

| 797 aomedm e\ nedmcoon)
65x01=06+05 65x01=06+0]|5 65x01=06|5
65x02=12+10 65x02=12+1]0 65x02=1 3|0
65x03=18+15 65x03=518+1|5 65x03=19|5
65x04=24+20 65x04=24+2|0 65x04=2 6|0
65x05=30+25 65x05=30+2|5 65x05=32|5
65x06=36+30 65x06=36+ 3|0 65x06=39|0
65x07=42+35 65x07=42+3|5 65x07=45]5
65x08=48+40 65x08=48+4|0 65x08=52|0
65x09=54+45 65x09=54+4|5 65x09=5 8|5
65x10=60+50 65x10=60+5|0 65x10=65|0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

65x01=065
65x02=130
65x03=195
65x04=260

65x05=325

65x06=390
65x07=455
65x08=520
65x09=585

65x10=650

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 65!




Do It Yourself'!

Table of 65

Table of 6 ‘_\S Z/A Table of 5

Step 1: Number "65" contains digit "6" & "5" so write the Table of "6" on Left and Table of "5" on Right

Table of 6

Table of

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

65x01=
65x02=
65x03=
65x04=
65x05=
65x06=
65x07=
65x08=
65x09=
65x10=

+

+ + + + + + + 4+ +

65x014 + 65x01=
65x02 + 65x02=
65x035 + 65x03=
65x04= + 65x04=
65x054 + 65x05=
65x06= + 65x06=
65x07H + 65x07=
65x084 + 65x08=
65x095 + 65x09=
65x10H + 65x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

65x01=
65x02=
65x03=
65x04=
65x05=

65x06=
65x07=
65x08=
65x09=
65x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 65!




Do It Yourself'!

Table of 65

. 563 .




Table of 66

566 .

06|12 18

30

36/4 248

5 4

0 6

1 8/2 4|3 0

6 0

36

4 214 8|5 4/6 0

Step 1: Number "66" contains digit "6" & "6" so write the Table of "6" on Left and Table of "6" on Right

Table of 6

Table of 6

Box

with

LT aowimreenieN it e oony
66x01=06+06] [66x01=06+0]6| |66x01=06|6
66x02=12+12] [66x02=12+1}]2| |66x02=1 3|2
66x03=18+18 66x03=18+1I8 [66x03=19]8
66x04=24+24] [66x04=24+2|4| |66x04=26}4
66x05=30+30] [66x05=30+3]0] |66x05=33|0
66x06=36+36] [66x06=36+3|6|] |66x06=39|6
66x07=42+42] [66x07=42+4]2| |66x07=46|2
66x08=48+48 [66x08=48+4|8 [66x08=52|3
66x09=54+54] |66x09=54+54 |66x09=59|4
66x10=60+60] |66x10=60+6J0] [66x10=|66]0

Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

66x01=066
66x02=132
66x03=198
66x04=264

66x05=330

66x06=396
66x07=462
66x08=528
66x09=594

66x10=660

Write the result after adding
the numbers in box

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 66 !




Do It Yourself'!

Table of 66

Table of 6 ‘_\S Z/A Table of 6

Step 1: Number "66" contains digit "6" & "6" so write the Table of "6" on Left and Table of "6" on Right

Tableof 6, :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
66x01= + 66x014 + 66x01=
66x02= + 66x02= + 66x02=
66x03= + 66x03= + 66x03=
66x04= + 66x04= + 66x04=
66x05= + 66x05= + 66x05=
66x06= + 66x06= + 66x06=
66x07= + 66x075 + 66x07=
66x08= + 66x08= + 66x08=
66x09= + 66x09= + 66x09=
66x10= + 66x105 + 66x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

66x01=
66x02=
66x03=
66x04=
66x05=

66x06=
66x07=
66x08=
66x09=
66x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 66 !




Do It Yourself'!

Table of 66

. 566




Table of 67

PR L/

0 6

1 2

18

30

36

4 2

4 8

0 7

412 112 8

3

5

5416 0

4 2

4 9

56/6 3

7

0

Step 1: Number "67" contains digit "6" & "7" so write the Table of "6" on Left and Table of “7" on Right

Table of 7

Box

with

IV I, e oo
67x01=06+07 67x01=06+0]7 67x01=0 6|7
67x02=12+14 67x02=12+1}|4 67x02=1 34
67x03=18+21 67x03518+2]1 67x03=20]1
67x04=24+28 67x04=24+2|8 67x04=2 6|8
67x05=30+35 67x05=30+3|5 67x05=3 3|5
67x06=36+42 67x06=36+4|2 67x06=40|2
67x07=42+49 67x07=42+4]9 67x07=4 6|9
67x08=48+56 67x08=4 8+ 5|6 67x08=53]6
67x09=54+63 67x09=54+6|3 67x09=60]3
67x10=60+70 67x10=60+7]0 67x10=67(0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

67x01=067
67x02=134
67x03=201
67x04=2638

67x05=335

67x06=402
67x07=469
67x08=536
67x09=603

67x10=670

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 67 !




Do It Yourself'!

Table of 67

Table of 6 b\S Z/i Table of 7

Step 1: Number "67" contains digit "6" & "7" so write the Table of "6" on Left and Table of “7" on Right

Tableof 6, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
67x01= + 67x01+ + 67x01=
67x02= + 67x02= + 67x02=
67x03= + 67x03= + 67x03=
67x04= + 67x04= + 67x04=
67x05= + 67x05= + 67x05=
67x06= + 67x06= + 67x06=
67x07= + 67x07 + 67x07=
67x08= + 67x08= + 67x08=
67x09= + 67x09= + 67x09=
67x10=+ 67x105 + 67x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

67x01=
67x02=
67x03=
67x04=
67x05=

67x06=
67x07=
67x08=
67x09=
67x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 67 !




Do It Yourself'!

Table of 67

. 567,




Table of 63

Table of 6 ‘_\S Z/A Table of 8

0 6

1 2

1 8

30

36

4 2

4 8

0 8

2 4|3 2

4

0

5416 0

4 8

56

6 4|7 2

8

0

Step 1: Number "68" contains digit "6" & "8" so write the Table of "6" on Left and Table of "8" on Right

Table of 8

Box

with

B T i Aottt N e e e
68x01=06+08 68x01=06+0[8 [68x01=06|3
68x02=12+16] 68x02=12+1|6 6 8x02=1 3|6
68x03=18+24| |68x03=18+2|4| [68x03=20|4
68x04=24+32] 68x04=24+3|2| [68x04=27|2
68x05=30+40] |68x05=30+4[{0] 68x05=34|0
68x06=36+48 68x06=36+4(8 [68x06=40|8
68x07=42+56 [68x07=42+5]6 68x07=47|6
68x08=48+64 [68x08=48+6l4 |68x08=54/4
68x09=54+72| 68x09=554+72| |68x09=61|2
68x10=60+80] |68x10=60+8[0] [68x10=]6 8|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

68x01=0638
68x02=136
68x03=204
68x04=272

68x05=340

68x06=408
68x07=476
68x08=544
68x09=612

68x10=680

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 68 !




Do It Yourself'!

Table of 63

Table of 6 ‘_\S Z/A Table of 8

Step 1: Number "68" contains digit "6" & "8" so write the Table of "6" on Left and Table of "8" on Right

Tableof 6, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
68x01= + 68x014 + 68x01=
68x02= + 68x02= + 68x02=
68x03= + 68x03=5 + 68x03=
68x04= + 68x04= + 68x04=
68x05= + 68x05= + 68x05=
68x06= + 68x06= + 68x06=
68x07= + 68x075 + 68x07=
68x08= + 68x08= + 68x08=
68x09= + 68x09= + 68x09=
68x10= + 68x105 + 68x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

68x01=
68x02=
68x03=
68x04=
68x05=

68x06=
68x07=
68x08=
68x09=
68x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 68 !




Do It Yourself'!

Table of 63

. 568,




Table of 69

PR L/

06|12

18

30 0

36(42

4 85 4

9 2 7(3 6/45

6 0 5

416 3|7 2(8 1|9 0

Step 1: Number "69" contains digit "6" & "9" so write the Table of "6" on Left and Table of "9" on Right

Table of 6

Table of 9

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

69x01=06+09] 69x01=06+0[9] [69x01=06|9
69x02=12+18 [69x02=12+1|8 [69x021 3|8
69x03=18+27 [69x03=18+2|7| |69x03=20|7
69x04=24+36] [69x04=24+3|6|] 69x04=27|6
69x05=30+45 [69x05=30+4{5| |69x05=34|5
69x06=36+54] |69x06=36+5|4 [69x06=41}4
69x07=42+63] [69x07=42+6|3] (69x07=4 8|3
69x08=48+72] 69x08=48+72] [69x08=55|2
69x09=54+81 69x09=54+§|l 69x09=62]1
69x10=60+90] |69x10=60+9J0] [69x10=69]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
69x01=069 69x06=414
69x02=138 69x07=483
69x03=207 69x08=552
69x04=276 69x09=621
69x05=345 69x10=690

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 69 !




Do It Yourself'!

Table of 69

Table of 6 ‘_\S Z/A Table of 9

Step 1: Number "69" contains digit "6" & "9" so write the Table of "6" on Left and Table of "9" on Right

Tableof 6, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
69x01= + 69x014 + 69x01=
69x02= + 69x02 + 69x02=
69x03= + 69x03= + 69x03=
69x04= + 69x04= + 69x04=
69x05= + 69x05 + 69x05=
69x06= + 69x06= + 69x06=
69x07= + 69x075 + 69x07=
69x08= + 69x08= + 69x08=
69x09= + 69x09= + 69x09=
69x10= + 69x105 + 69x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

69x01=
69x02=
69x03=
69x04=
69x05=

69x06=
69x07=
69x08=
69x09=
69x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 69 !




Do It Yourself'!

Table of 69

. 569 .




Table of 70

Table of 7 ‘_\S Z/i Table of 0

0 7

1 4

2 1 35

4 2

4 9

00

0000

0

0

56/6 3|70

00

00

0000

0

0

Step 1: Number “70" contains digit "7" & "0" so write the Table of "7" on Left and Table of "0" on Right

Table of O Box

with

TIUT o\ st doebor)
70x01=07+00] |(70x01=07+0[|0 [70x01=07[0
70x02=14+00, [70x02=14+0]0] |70x02=1 4|0
70x03=21+00] |(70x03=21+0J|0| [70x03=21]0
70x04=28+00] |(70x04=28+0[|0| [70x04=28|0
70x05=35+00] |(70x05=35+0[|0] [70x035=35|0
70x06=42+00] |70x06=42+0[0] |70x06=42|0
70x07=49+00] |70x07=H49+0[0] [70x07=49|0
70x08=56+00] |(70x08=56+0[|0| [70x08=[56|0
70x09=63+00] |70x09=63+0[0] |70x09=6 3|0
70x10=70+00] |70x10=70+0[0] |70x10=70]0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

70x01=070 70x06=420
70x02=140 70x07=490
70x03=210 70x08=560
70x04=280 70x09=630

70x05=350

70x10=700

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 70!




Do It Yourself'!

Table of 70

Table of 7 bJ Z/i Table of O

Step 1: Number “70" contains digit "7" & "0" so write the Table of "7" on Left and Table of "0" on Right

Table of 7, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
70x01=  + 70x01+ + 70x01=
70x02= + 70x02= + 70x02=
70x03= + 70x034 + 70x03=
70x04= + 70x04= + 70x04=
70x05= + 70x055 + 70x05=
70x06= + 70x06 + 70x06=
70x07= + 70x075 + 70x07=
70x08= + 70x08= + 70x08=
70x09= + 70x094H + 70x09=
70x10=+ 70x10H + 70x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

70x01=
70x02=
70x03=
70x04=
70x05=

70x06=
70x07=
70x08=
70x09=
70x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 70!




Do It Yourself'!

Table of 70

IRLL/N




Table of 71

BPRLLIINY

0711 4 21

35

4 214 9|5 6|6 3

70

01 0 310 4]0 5
0607080910

Step 1: Number "71" contains digit "7" & "1" so write the Table of "7" on Left and Table of "1" on Right

Tabl 1
Table of 7 able of

Box with

LT aowimreenieN it e aoon
71x01=07+01 71x01=07+0]1 71x01=07]1
71x02=14+02| |71x02=14+012| |71x02=14|2
71x03=21+03] [71x03=21+0]3] |71x03=21|3
71x04=28+04] |71x04=28+0}4| |71x04=2 84
71x05=35+05] [71x05=35+0|5| |71x05=35|5
71x06=42+06] |[71x06=42+0|6| |71x06=42|6
71x07=49+07, |[71x07=49+0|7| |71x07=49]7
71x08=56+08 [71x08=56+0]8 |71x08&8=5 6|8
71x09=63+09] (71x09=63+0[9] |[71x09=6 3|9
71x10=70+10] |71x10H70+110 |71x10=71]0

Step 2 Step 3 Step 4

Write in Times Table Format
& insert "+" sign between them

Draw a box with complete left side ~ Write the result after adding
digits & only 1 digit from right side the numbers in box

71x01=071 71x06=426

71x02=142 71x07=497 M
71x03=213 71x08=568

Suffix the digit remaining outside the

71x04=284 71x09=639 box to the result

71x05=355 71x10=710

And finally you have the TABLE of 71!




Table of 71

Table of 7 bJ Z/i Table of 1

Step 1: Number "71" contains digit "7" & "1" so write the Table of "7" on Left and Table of "1" on Right

Table of 1 Box with

TUT et sl ecanior]
71x01= + 71x015 + 71x01=
71x02= + 71x02= + 71x02=
71x03= + 71x035 + 71x03=
71x04= + 71x04= + 71x04=
71x05= + 71x055 + 71x05=
71x06= + 71x06= + 71x06=
71x07= + 71x07= + 7T1x07=
71x08= + 71x08= + 71x08=
71x09= + 71x09 + 71x09=
71x10= + 71x10H + 71x10=

Step 2 Step 3 Step 4
Write in Times Table Format Draw a box with complete left side  Write the result after adding
& insert "+" sign between them  digits & only 1 digit from right side the numbers in box
71x01= 71x06=

71x02= 71x07= M
7T1x03= 7T1x08=
Suffix the digit remaining outside the

71XO4: 71X09: box to the result.

And finally you have the TABLE of 71!
7T1x05= 7T1x10=




Do It Yourself'!

Table of 71

IRLAIR




Table of 72

Table of 7 ‘_\S Z/A Table of 2

0711 4|2 1

35

4 214 9|5 6

6 3

0 2

060 8|1 0

70

1 2

1 4/1 6|1 8/2 0

Step 1: Number "72" contains digit "7" & "2" so write the Table of "7" on Left and Table of "2" on Right

Table of 2

Box

with

TIUT o\ st doebor)
72x01=07+02] |72x01H07+0[2| |72x01=07|2
72x02=14+04 72x02=14+04 72x02=1 4[4
72x03=21+06] |72x03H21+0|6| |72x03=|21|6
72x04=28+08 72x04=]2 8+ 0|8 72x04=2 8|8
72x05=35+10] |72x0535+1{0] |72x05=36|0
72x06=42+12] |72x06=42+1[2| |72x06=43|2
72x07=49+14| |72x07H49+1{4| |72x07=50}4
72x08=56+16/ |72x08=56+1]6 72x08=57|6
72x09=63+18 72x09=63+1|8 72x09=64|8
72x10=70+20 [72x10=570+2|0] |72x10=72|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

72x01=072
72x02=144
72x03=216
72x04=288

72x05=360

72x06=432
72x07=504
72x08=576
72x09=6438

72x10=720

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 72!




Do It Yourself'!

Table of 72

Table of 7 bJ Z/i Table of 2

Step 1: Number "72" contains digit "7" & "2" so write the Table of "7" on Left and Table of "2" on Right

Table of 7

Table of 2

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

72x01=
72x02=
72x03=
72x04=
72x05=
72x06=
72x07=
72x08=
72x09=
72x10=

+

+ + + + + + + 4+ +

72x014 + 72x01=
72x02 + 72x02=
72x035 + 72x03=
72x04= + 72x04=
72x055 + 72x05=
72x06= + 72x06=
72x07= + 72x07=
72x08= + 72x08=
72x09= + 72x09=
72x10= + 72x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

72x01=
72x02=
72x03=
72x04=
72x05=

72x06=
72x07=
72x08=
72x09=
72x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 72!




Do It Yourself'!

Table of 72

LN




Table of 73

DAL/

0711 4|2 1

35

4 214 9|5 6|6

0 3 0911 2|15

317 0

1 82 1|2 412 7|30

Step 1: Number “73" contains digit "7" & "3" so write the Table of "7" on Left and Table of "3" on Right

Tabl
Table of 7 avle

of 3 Box

with

L 7T ] oSt e dokoor )
73x01=07+03] |73x01507+0]3) [73x01=07|3
73x02=14+06] |73x02=14+0]6| |73x02=]146
73x03=21+09] |73x03=21+0]9] [73x03=21|9
73x04=28+12| |73x04=28+1]2 |73x04=29|2
73x05=35+15 |73x05=35+1[5 [73x05=36|5
73x06=42+18| |73x06=42+1|8 |73x06=}43|8
73x07=49+21 |73x07=49+2|1| |73x07=51{1
73x08=56+24| |[73x08=56+2]4 |73x08=584
73x09=63+27 [73x09=63+2[7] |73x09=|65]7
73x10=70+30 [73x10=70+3|0] |73x10=|73]0

Step 2 Step 3 Step 4

Werite in Times Table Format Draw a box with complete left side ~ Write the result after adding
& insert "+" sign between them digits & only 1 digit from right side the numbers in box
73x01=073 73x06=438
73x02=146 73x07=511 M
73x03=219 73x08=584

Suffix the digit remaining outside the
73x04=292 73x09=657 box to the result

And finally you have the TABLE of 73!
73x05=365 73x10=730




Do It Yourself'!

Table of 73

Table of 7 bJ Z/i Table of 3

Step 1: Number “73" contains digit "7" & "3" so write the Table of "7" on Left and Table of "3" on Right

Table of 7

Table of 3

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

73x01=
73x02=
73x03=
73x04=
73x05=
73x06=
73x07=
73x08=
73x09=
73x10=

+

+ + + + + + + 4+ +

73x014 + 73x01=
73x02= + 73x02=
73x034H + 73x03=
73x04= + 73x04=
73x054 + 73x05=
73x06= + 73x06=
73x07= + 73x07=
73x08 + 73x08=
73x09= + 73x09=
73x10= + 73x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

73x01=
73x02=
73x03=
73x04=
73x05=

73x06=
73x07=
73x08=
73x09=
73x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 73!




Do It Yourself'!

Table of 73

IRLLIN




Table of 74

EPRLL/SN

0711 4

21

35 0

4 2149

56/6 3

= 1 211 6{2 0

70 2

412 813 213 6(3 0

Step 1: Number “74" contains digit "7" & "4" so write the Table of "7" on Left and Table of "4" on Right

Table of 7

Table of 4

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

74x01=07+04] [74x01=07+0}4| |74x01=074
T74x02=14+08 [74x02=14+0]8 |74x02=1 4|8
74x03=21+12] [74x03=21+1}2| |74x03=22)2
74x04=28+16] [74x04=28+1|6| |74x04=29|6
74x05=35+20] [74x05=35+2|0 |74x05=370
74x06=42+24] |[74x06=42+2|4| |74x06=444
74x07=49+28 |[74x07=H49+2|8] |74x07=5 1|8
74x08=56+32] |(74x08=56+3|2] [(74x08=59|2
74x09=63+36] |(74x09=63+3|6|] |[74x09=66|6
74x10=70+40] |[74x10=70+4{0| |74x10=74|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
74x01=074 74x06=444
74x02=148 74x07=518
74x03=222 74x08=592
74x04=296 74x09=666
74x05=370 74x10=740

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 74!




Do It Yourself'!

Table of 74

Table of 7 bJ Z/i Table of 4

Step 1: Number “74" contains digit "7" & "4" so write the Table of "7" on Left and Table of "4" on Right

Table of 7

Table of 4

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

74x01=
74x02=
74x03=
74x04=
74x05=
74x06=
74x07=
74x08=
74x09=
74x10=

+

+ + + + + + + 4+ +

74x014 + 74x01=
74x024 + 74x02=
74x035 + 74x03=
74x04= + 74x04=
74x055 + 74x05=
74x06= + 74x06=
74x07= + 74x07=
74x08= + 74x08=
74x09= + 74x09=
74x105 + 74x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

74x01=
74x02=
74x03=
74x04=
74x05=

74x06=
74x07=
74x08=
74x09=
74x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 74!




Do It Yourself'!

Table of 74

IR IR




Table of 75

IPRLL/SN

0711 4

2 1

35 0

4 2149

56/6 3

5 1 5(2 0(2 5

70 3

03 5/40(4 5[50

Step 1: Number “75" contains digit "7" & "5" so write the Table of "7" on Left and Table of "5" on Right

Table of 7

Table of

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

75x01=07+05 [75x01H07+0}5 |75x01=075
75x02=14+10] [75x02=14+1]0 |75x02=1 5|0
75x03=21+15] [75x03=21+1|5| |75x03=22|5
75x04=28+20] [75x04=28+2|0 |75x04=30]0
75x05=35+25] [75x05=35+2|5| |[75x05=F37|5
75x06=42+30] [75x06=42+3|0| |75x06=4)5|0
75x07=49+35] [75x07=49+3|5| |[75x07=52|5
75x08=56+40] |75x08=56+4|0] |75x08=60]0
75x09=63+45 |(75x09=63+4|5 [75x09=67]5
75x10=70+50] [75x10=70+5]0 |75x10=75|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
75x01=075 75x06=450
75x02=150 75x07=525
75x03=225 75x08=600
75x04=300 75x09=675
75x05=375 75x10=750

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 75!




Do It Yourself'!

Table of 75

Table of 7 ‘_\S Z/A Table of 5

Step 1: Number “75" contains digit "7" & "5" so write the Table of "7" on Left and Table of "5" on Right

Table of 7

Table of

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

75x01=
75x02=
75x03=
75x04=
75x05=
75x06=
75x07=
75x08=
75x09=
75x10=

+

+ + + + + + + 4+ +

75x014H + 75x01=
75x02 + 75x02=
75x035 + 75x03=
75x04 + 75x04=
75x054 + 75x05=
75x06= + 75x06=
75x07= + 75x07=
75x08= + 75x08=
75x09 + 75x09=
75x10 + 75x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

75x01=
75x02=
75x03=
75x04=
75x05=

75x06=
75x07=
75x08=
75x09=
75x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 75!




Do It Yourself'!

Table of 75

513 .




Table of 76

DAL/

0711 4

21

35 0

4 2149

56/6 3

6 1 8/2 4|3 0

70 3

64 214 8|5 4|6 0

Step 1: Number "76" contains digit "7" & "6" so write the Table of "7" on Left and Table of "6" on Right

Table of 7

Table of 6

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

76x01=07+06 76x01=07+0]|6 76x01=07(6
T76x02=14+12 76x02=14+1|2 76x02=1 5|2
76x03=21+18 76x03=21+1|8 76x03=22|8
76x04=28+24 76x04=28+2|4 76x04=30}4
76x05=35+30 76x05=35+3|0 76x05=38|0
76x06=42+36 76x06=42+3|6 76x06=|4 5|6
T6x07=49+42 T76x07=49+4)2 76x07=5 3|2
T6x08=56+48 76x08=56+4|8 76x08=60]8
76x09=63+54 76x09=63+5|4 76x09=6 8|4
76x10=70+60 76x10=70+6|0 76x10=76|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
76x01=076 76x06=456
76x02=152 76x07=532
76x03=228 76x08=608
76x04=304 76x09=684
76x05=380 76x10=760

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 76!




Do It Yourself'!

Table of 76

Table of 7 ‘_\S Z/A Table of 6

Step 1: Number "76" contains digit "7" & "6" so write the Table of "7" on Left and Table of "6" on Right

Tableof 7, g; :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
76x01= + 76x015 + 76x01=
76x02= + 76x02= + T76x02=
76x03= + 76x03= + 76x03=
76x04= + 76x04= + 7T6x04=
76x05= + 76x05 + 76x05=
76x06= + 76x06= + 76x06=
76x07= + 76x07= + 76x07=
76x08= + 76x08= + 76x08=
76x09= + 76x094H + 76x09=
76x10= + 76x10H + 76x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

76x01=
76x02=
76x03=
76x04=
76x05=

76x06=
76x07=
76x08=
76x09=
76x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 76!




Do It Yourself'!

Table of 76

. 576 .




Table of 77

LSHL

0711 4

21

35 0

4 2149

56/6 3

711 412 1|12 8|3 5

70 -

214 9/56(6 3|/70

Step 1: Number “77" contains digit "7" & "7" so write the Table of "7" on Left and Table of "7" on Right

Table of 7

Table of 7

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

77x01=07+07, [77x01=507+0|7 |77x01=07|7
77x02=14+14] |[77x02=14+1}4| |77x02=1 54
77x03=21+21] [77x03=21+2]1| |77x03=2 3|1
77x04=28+28 |[77x04=28+2|8] |77x04=30|8
77x05=35+35] [77x05=35+3|5| |77x05=38|5
77x06=42+42] |[77x06=42+4]2| |77x06=46|2
77x07=49+49| [77x07=49+419 |77x07=53|9
77x08=56+56] |(77x08=56+5|6|] |[77x08=61|6
77x09=63+63] |(77x09=63+6|3] |[77x09=69|3
77x10=70+70] |[77x10=70+7|0 |77x10=77|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
77x01=077 77x06=462
77x02=154 77x07=539
77x03=231 77x08=616
77x04=308 77x09=693
77x05=385 77x10=770

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 77!




Do It Yourself'!

Table of 77

Table of 7 b\S Z/i Table of 7

Step 1: Number “77" contains digit "7" & "7" so write the Table of "7" on Left and Table of "7" on Right

Table of 7

Table of 7

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

77x01=
77x02=
77x03=
77x04=
77x05=
77x06=
7T7x07=
77x08=
77x09=
77x10=

+

+ + + + + + + 4+ +

77x014 + 77x01=
77x02 + 77x02=
77x034 + 77x03=
77x04= + 77x04=
77x055 + 77x05=
77x06= + 7TT7x06=
77x07= + 7T7x07=
7T7x08= + 77x08=
77x09= + 77x09=
77x10H + 77x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

77x01=
77x02=
77x03=
77x04=
77x05=

7TT7x06=
77x07=
77x08=
77x09=
77x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 77!




Do It Yourself'!

Table of 77

IRLLIBR




Table of 73

Table of 7 ‘_\S Z/A Table of 8

0711 4

2 1

35 0

4 2149

56/6 3

8 2 4/32/40

70 -

815 6/6 4|7 2|8 0

Step 1: Number “78" contains digit "7" & "8" so write the Table of "7" on Left and Table of "8" on Right

Table of 7

Table of 8

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

78x01=07+08 [78x01=07+0]8 |78x01=078
78x02=14+16] [78x02=14+1|6] |78x02=1 5|6
78x03=21+24] |78x03=21+2|4| |78x03=23}4
78x04=28+32] [78x04=28+3)]2| |78x04=31|2
78x05=35+40] |[78x05=35+4{0 |78x05=39|0
78x06=42+48 |[78x06=42+4|8] |78x06=46|8
78x07=49+56] [78x07=49+5|6| |78x07=54|6
78x08=56+64] |78x08=56+6f4 |78x08=|62}4
78x09=63+72] |78x09=63+7|2| |[78x09=70|2
78x10=70+80] |78x10=70+8|0] |[78x10=|738|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
78x01=078 78x06=4638
78x02=156 78x07=546
78x03=234 78x08=624
78x04=312 78x09=702
78x05=390 78x10=780

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 78!




Do It Yourself'!

Table of 73

Table of 7 ‘_\S Z/A Table of 8

Step 1: Number “78" contains digit "7" & "8" so write the Table of "7" on Left and Table of "8" on Right

Tableof 7, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
78x01= + 78x015 + 78x01=
78x02= + 78x02= + 78x02=
78x03= + 78x03= + 78x03=
78x04= + 78x04= + 7T8x04=
78x05= + 78x055 + 78x05=
78x06= + 78x06= + 78x06=
78x07= + 78x075 + 78x07=
78x08= + 78x08= + 78x08=
78x09= + 78x094 + 78x09=
78x10= + 78x10H + 78x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

78x01=
78x02=
78x03=
78x04=
78x05=

78x06=
78x07=
78x08=
78x09=
78x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 78!




Do It Yourself'!

Table of 73

518 .




Table of 79

PRLL/N

0711 4

21

35 0

4 2149

56/6 3

9 2 7(3 6/45

70 5

416 3|7 2(8 1|9 0

Step 1: Number "79" contains digit "7" & "9" so write the Table of "7" on Left and Table of "9" on Right

Table of 7

Table of 9

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

79x01=07+09| [79x01=07+0]9] |(79x01=07|9
79x02=14+18] |[79x02=14+1|8] |79x02=1 58
79x03=21+27 [79x03=21+2|7| |79x03=2 3|7
79x04=28+36] [79x04=28+3|6| |79x04=31|6
79x05=35+45] [79x05=35+4{5| |79x05=39|5
79x06=42+54] |79x06=42+5|4 |(79x06=47}4
79x07=49+63] [79x07=49+6{3| |79x07=5 5|3
79x08=56+72] |(79x08=56+7|2| [79x08=6 3|2
79x09=63+81 79x09=6 3+§|l 79x09=7 1|1
79x10=70+90] |79x10=70+9]0] [79x10=79|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
79x01=079 79x06=474
79x02=158 79x07=553
79x03=237 79x08=632
79x04=316 79x09=711
79x05=395 79x10=790

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 79!




Do It Yourself'!

Table of 79

Table of 7 ‘_\S Z/A Table of 9

Step 1: Number "79" contains digit "7" & "9" so write the Table of "7" on Left and Table of "9" on Right

Tableof 7, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
79x01= + 79x015 + 79x01=
79x02= + 79x02= + 79x02=
79x03= + 79x03= + 79x03=
79x04= + 79x04= + 79x04=
79x05= + 79x05 + 79x05=
79x06= + 79x06= + 79x06=
79x07= + 79x075 + 79x07=
79x08= + 79x08= + 79x08=
79x09=  + 79x094H + 79x09=
79x10= + 79x10H + 79x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

79x01=
79x02=
79x03=
79x04=
79x05=

79x06=
79x07=
79x08=
79x09=
79x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 79!




Do It Yourself'!

Table of 79

ST




Table of 80

Table of 8 ‘_\S Z/i Table of 0

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

0 001000 0

8 0 0

00 0]0 0(0 00 O

Step 1: Number "80" contains digit "8" & "0" so write the Table of "8" on Left and Table of "0" on Right

Table of 8

Table of O

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

80x01=08+00[ [80x01=08+0[0] |80x01=|038|0
80x02=16+00/ [80x02=16+0J0] |80x02=]16]0
80x03=24+00[ |80x03=24+0J0] |80x03=24{0
80x04=32+00 [|80x04=32+0J0] |80x04=32{0
80x05=40+00] [80x05=40+0]0| [|80x05=40]0
80x06=48+00] [80x06=48+0]0 [|80x06=48|0
80x07=56+00 [80x07=56+0J0] |80x07=|56|0
80x08=64+00 [80x08=64+0J0] |80x08=64|0
80x09=72+00] [80x09=72+0]0 [|80x09=72|0
80x10=80+00 [80x10=80+0[0] |B0x10=80]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
80x01=080 80x06=480
80x02=160 80x07=560
80x03=240 80x08=640
80x04=320 80x09=720
80x05=400 80x10=800

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 80 !




Do It Yourself'!

Table of 80

Table of 8 bd Z/i Table of O

Step 1: Number "80" contains digit "8" & "0" so write the Table of "8" on Left and Table of "0" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
80x01= + 80x014 + 80x01=
80x02=  + 80x024 + 80x02=
80x03= + 80x035 + 80x03=
80x04= + 80x044 + 80x04=
80x05= + 80x054 + 80x05=
80x06= + 80x06= + 80x06=
80x07= + 80x074H + 80x07=
80x08= + 80x08= + 80x08=
80x09=  + 80x094 + 80x09=
80x10= + 80x105H + 80x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

80x01=
80x02=
80x03=
80x04=
80x05=

80x06=
80x07=
80x08=
80x09=
80x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 80 !




Do It Yourself'!

Table of 80

. 580, .




Table of 81

Table of 8 ‘_\S Z/i Table of 1

0 8|1 6|2 4

4 0

4 8|5 6|6 4

01 0 310 4]0 5

72|80

0607080910

Step 1: Number "81" contains digit "8" & "1" so write the Table of "8" on Left and Table of "1" on Right

Table of 1

Table of 8

Box

with

| 797 i\ nedmeoor)
E1x01=08+01 81x01=08+0}1 81x01=08g|!I
g1x02=16+02 81x02=16+0|2 81x02-16]|2
81x03=24+03 81x03524+0)3 81x03=24|3
81x04=32+04 81x04532+0|4 81x04=32/4
81x05=40+05 81x05540+0)5 81x05=40|5
81x06=48+06 81x06=48+0]6 81x06=|48|6
81x07=56+07 81x07H56+0]7 81x07=56|7
81x08=64+08 81x08=64+0|8 81x08=64|8
81x09=724+09 81x09=72+0|9 81x09472[9
81x10=80+10 81x10=80+1{0 81x10=81]0
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+"

sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

81x01=081
81x02=162
81x03=243
81x04=324
81x05=405

81x06=486
81x07=567
81x08=6438
81x09=729
81x10=810

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 81!




Do It Yourself'!

Table of 81

Table of 8 bJ Z/i Table of 1

Step 1: Number "81" contains digit "8" & "1" so write the Table of "8" on Left and Table of "1" on Right

Table of 1 Box with

P e ]
81x01= + 81x01+ + 81x01=
8§1x02= + 81x02+ + 81x02=
8§1x03= + 8§1x03+ + 81x03=
8§1x04= + 81x04= + 81x04=
8§1x05= + 81x05+ + 81x05=
81x06= + 81x06=5 + 81x06=
8§1x07= + 8§1x07+ + 81x07=
81x08= + 8§1x08= + 81x08=
8§1x09= + 8§1x09+ + 81x09=
8§1x10= + 81x10+ + 81x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

81x01=
81x02=
81x03=
81x04=
81x05=

81x06=
81x07=
81x08=
81x09=
81x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 81!




Do It Yourself'!

Table of 81

LI




Table of 82

Table of 8 ‘_\S Z/A Table of 2

0 8|1 6|2 4

4 0

4 8|5 6|6 4

7 2

0 2

060 8|1 0

8 0

1 2

1 4/1 6|1 8/2 0

Step 1: Number "82" contains digit "8" & "2" so write the Table of "8" on Left and Table of "2" on Right

Table of 2

Box

with

TV I e oo
82x01=08+02 82x01508+0]2 82x01-08|2
82x02=16+04 82x02=16+0|4 82x02-1 64
82x03=24+06 82x03724+0]6 82x03=24|6
82x04=32+08 82x04=32+0]8 82x04432|8
82x05=40+10 82x05=40+1{0 82x05-4 110
82x06=48+12 82x06=48+ 1|2 82x06=49|2
82x07=56+14 82x07=56+ 1|4 82x0757|4
E2x08=64+16 82x08=64+1]6 82x08=6 516
82x09=72+18 82x09+572+118 82x0947 3|8
82x10=80+20 82x10=80+2]0 82x10=8 2|0

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

82x01=082
82x02=164
82x03=246
82x04=328

82x05=410

82x06=492
82x07=574
82x08=656
82x09=738

82x10=820

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 82!




Do It Yourself'!

Table of 82

Table of 8 bd Z/i Table of 2

Step 1: Number "82" contains digit "8" & "2" so write the Table of "8" on Left and Table of "2" on Right

Table of 8

Table of 2

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

82x01=
82x02=
82x03=
82x04=
82x05=
82x06=
82x07=
82x08=
82x09=
82x10=

+

+ + + + + + + 4+ +

82x014 + 82x01=
82x024 + 82x02=
82x03 + 82x03=
82x04= + 82x04=
82x05 + 82x05=
82x06= + 82x06=
82x07H + 82x07=
82x08= + 82x08=
82x095 + 82x09=
82x10+ + 82x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

82x01=
82x02=
82x03=
82x04=
82x05=

82x06=
82x07=
82x08=
82x09=
82x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 82!




Do It Yourself'!

Table of 82

. 582




Table of 83

Table of 8 ‘_\S Z/A Table of 3

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

3 0911 2|15

8 0 1

812 112 412 7|30

Step 1: Number "83" contains digit "8" & "3" so write the Table of "8" on Left and Table of "3" on Right

Table of 8

Table of 3

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

83x01=08+03] [|83x01=08+0J3] [83x01=0 8|3
83x02=16+06] |83x02=16+0J6| [83x02=1 6|6
83x03=24+09] [83x03=24+0[9] [(83x03=24{9
83x04=32+12] [83x04=32+1]2| [|83x04=33|2
83x05=40+15] [83x05=40+1I5 [(83x05=41]|5
83x06=48+18 [83x06=48+1|8 [83x06=49|8
83x07=56+21 83x07=56+2]1 83x07=538]l
83x08=64+24| |83x08=64+2|4 |83x08=|66}4
83x09=72+27 83x09F72+2(7] [83x0974|/
83x10=80+30] [83x10=80+3|0] |83x10=8 3|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
83x01=083 83x06=498
83x02=166 83x07=581
83x03=249 83x08=664
83x04=332 83x09=747
83x05=415 83x10=830

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 83!




Do It Yourself'!

Table of 83

Table of 8 bJ Z/i Table of 3

Step 1: Number "83" contains digit "8" & "3" so write the Table of "8" on Left and Table of "3" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
83x01= + 83x01+H + 83x01=
83x02= + 83x024 + 83x02=
83x03=  + 8§3x03= + 83x03=
83x04= + 83x04= + 83x04=
83x05= + 83x05= + 83x05=
83x06=  + 83x06= + 83x06=
83x07= + 83x07H + 83x07=
83x08=  + 83x08= + 83x08=
83x09= + 83x09= + 83x09=
83x10= + 83x10H + 83x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

83x01=
83x02=
83x03=
83x04=
83x05=

83x06=
83x07=
83x08=
83x09=
83x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 83!




Do It Yourself'!

Table of 83

. 583 .




Table of 84

Table of 8 ‘_\S Z/A Table of 4

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

= 1 211 6{2 0

8 0 2

412 813 213 6(3 0

Step 1: Number "84" contains digit "8" & "4" so write the Table of "8" on Left and Table of "4" on Right

Table of 8

Table of 4

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

84x01=08+04] [84x01=08+0}4 [|84x01=0 84
84x02=16+08 [84x02=516+0|8 |84x02=|16]|3
84x03=24+12] [84x03=24+1]2| |84x03=25|2
84x04=32+16] |84x04=32+1|6|] [(84x04=33|6
84x05=40+20] [84x05=40+2]0 [|84x05=42|0
84x06=48+24] [84x06=48+2]4 |84x06=5 04
84x07=56+28 [84x07=56+2|8 [84x07=5 8|8
84x08=64+32] |84x08=64+3|2] (84x08=67|2
84x09=72+36] [84x09=72+3|6|] [(84x097)5]6
84x10=80+40 [84x10=80+4|0] |84x10=84|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
84x01=084 84x06=504
84x02=168 84x07=588
84x03=252 84x08=672
84x04=336 84x09=756
84x05=420 84x10=840

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 84 !




Do It Yourself'!

Table of 84

Table of 8 bJ Z/i Table of 4

Step 1: Number "84" contains digit "8" & "4" so write the Table of "8" on Left and Table of "4" on Right

Table of 8, g :able ot ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
84x01= + 84x01= + 84x01=
84x02= + 84x02= + 84x02=
84x03=  + 84x03= + 84x03=
84x04= + 84x04= + 84x04=
84x05= + 84x05= + 84x05=
84x06=  + 84x06= + 84x06=
84x07= + 84x07= + 84x07=
84x08=  + 84x08= + 84x08=
84x09=  + 84x09= + 84x09=
84x10= + 84x105 + 84x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

84x01=
84x02=
84x03=
84x04=
84x05=

84x06=
84x07=
84x08=
84x09=
84x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 84 !




Do It Yourself'!

Table of 84

. S84




Table of 85

Table of 8 ‘_\S Z/A Table of 5

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

5 1 5(2 0(2 5

8 0 3

03 5/40(4 5[50

Step 1: Number "85" contains digit "8" & "5" so write the Table of "8" on Left and Table of "5" on Right

Table of 8

Table of

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

85x01=08+05 [85x01=H08+0]5 [85x01=08|5
85x02=16+10] [85x02=16+1]0 [|85x02=17|0
85x03=24+15 [85x03=F24+1I5| [85x03=25]|5
85x04=32+20] [85x04=32+2]0 [|85x04=34|0
85x05=40+25 [85x05=40+2[5 [85x05=42|5
85x06=48+30] [85x06=48+3]0| |85x06=51]0
85x07=56+35 [85x07H56+3|5 [85x07=59|5
85x08=64+40 [85x08=64+4|0] |85x08=|638|0
85x09=72+45 [|85x09=72+45] |85x09=76|5
85x10=80+50 [85x10=80+5/0] |85x10=85]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
85x01=085 85x06=510
85x02=170 835x07=595
8535x03=255 85x08=680
85x04=340 &85x09=765
835x05=425 85x10=850

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 85!




Do It Yourself'!

Table of 85

Table of 8 ‘_\S Z/A Table of 5

Step 1: Number "85" contains digit "8" & "5" so write the Table of "8" on Left and Table of "5" on Right

Table of 8

Table of

L

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

85x01=
85x02=
85x03=
85x04=
83x05=
85x06=
85x07=
85x08=
85x09=
85x10=

+

+ + + + + + + 4+ +

85x014 + 85x01=
85x024 + 85x02=
85x035 + 85x03=
85x044 + 85x04=
85x055 + 85x05=
85x06= + 85x06=
85x07H + 85x07=
85x08= + 85x08=
85x094 + 85x09=
85x10+ + 85x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

85x01=
85x02=
85x03=
85x04=
85x05=

85x06=
8535x07=
85x08=
85x09=
85x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 85!




Do It Yourself'!

Table of 85

. 583 .




Table of 86

Table of 8 ‘_\S Z/A Table of 6

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

6 1 8/2 4|3 0

8 0 3

64 214 8|5 4|6 0

Step 1: Number "86" contains digit "8" & "6" so write the Table of "8" on Left and Table of "6" on Right

Table of 8

Table of 6

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

86x01=08+06] |86x01=08+0]6| (86x01=0 8|6
86x02=16+12] [86x02=16+1]2| |86x02=17|2
86x03=24+18 [86x03=24+1|8 [86x03=25|8
86x04=32+24] [86x04=32+2]4 |86x04=344
86x05=40+30] [86x05=40+3]0| [|86x05=43|0
86x06=48+36] [86x06=48+3|6] [86x06=51]6
86x07=56+42| |86x07=56+42] |86x07=60|2
86x08=64+48 [|86x08=64+48 |86x08=|63|8
86x09=72+54] [86x09=72+5|4 |86x09=77}4
86x10=80+60 [86x10=80+6[0] |86x10=|86|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
86x01=086 86x06=516
86x02=172 86x07=602
86x03=258 86x08=688
86x04=344 86x09=774
86x05=430 86x10=860

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 86 !




Do It Yourself'!

Table of 86

Table of 8 ‘_\S Z/A Table of 6

Step 1: Number "86" contains digit "8" & "6" so write the Table of "8" on Left and Table of "6" on Right

Tableof 8, g; :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
86x01= + 86x015 + 86x01=
86x02= + 86x024 + 86x02=
86x03= + 86x03= + 86x03=
86x04=  + 8§6x04= + 86x04=
86x05= + 86x05= + 86x05=
86x06=  + 86x06= + 86x06=
86x07= + 86x075 + 86x07=
86x08=  + 86x08= + 86x08=
86x09= + 86x09= + 86x09=
86x10= + 86x105 + 86x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

86x01=
86x02=
86x03=
86x04=
86x05=

86x06=
86x07=
86x08=
86x09=
86x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 86 !




Do It Yourself'!

Table of 86

. 586




Table of 87

Table of 8 ‘_\S Z/A Table of 7

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

711 412 1|12 8|3 5

8 0 -

214 9/56(6 3|/70

Step 1: Number "87" contains digit "8" & "7" so write the Table of "8" on Left and Table of "7" on Right

Table of 8

Table of 7

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

87x01=08+07 [87x01H08+0[7 (87x01=0 8|/
87x02=16+14] [87x02=16+1}4 |87x02=17}4
87x03=24+21 87x03=24+2]|1 87x03-26]1
87x04=32+28 [87x04=32+2|8 [|87x04=34|8
87x05=40+35 [87x05540+3|5 [(87x05=43|5
87x06=48+42] [87x06=48+4]2| |87x06=52|2
87x07=56+49 [87x07=H56+4{9] [(87x07=60|9
87x08=64+56] |87x08=64+5|6|] |[87x08=69|6
87x09=72+63] |87x09=72+6|3] [87x09=7 8|3
87x10=80+70 |87x10=80+7|0] |87x10=87|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
87x01=087 87x06=522
87x02=174 87x07=609
87x03=261 87x08=696
87x04=348 &87x09=783
87x05=435 &87x10=870

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 87 !




Do It Yourself'!

Table of 87

Table of 8 b\S Z/i Table of 7

Step 1: Number "87" contains digit "8" & "7" so write the Table of "8" on Left and Table of "7" on Right

Tableof 8, :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
87x01=+ 87x01= + 87x01=
87x02= + 87x02= + 87x02=
87x03= + 87x03= + 87x03=
87x04= + 87x04= + 87x04=
87x05= + 87x05= + 87x05=
87x06=  + 87x06= + 87x06=
87x07= + 87x07= + 87x07=
87x08= + 87x08= + 87x08=
87x09= + 87x09= + 87x09=
87x10= + 87x10+H + 87x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

87x01=
87x02=
87x03=
87x04=
87x05=

87x06=
87x07=
87x08=
87x09=
87x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 87 !




Do It Yourself'!

Table of 87

587




Table of 83

Table of 8 ‘_\S Z/A Table of 8

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

8 2 4/32/40

8 0 -

815 6/6 4|7 2|8 0

Step 1: Number "88" contains digit "8" & "8" so write the Table of "8" on Left and Table of "8" on Right

Table of 8

Table of 8

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

88x01=08+08 [88x01=08+0I8 |88x01={0 3|8
88x02=16+16] |88x02=16+1|6| [(88x02=17]6
88x03=24+24] |88x03=24+2]4 |88x03=26}4
88x04=32+32] [88x04=32+3]2| |88x04=35|2
88x05=40+40] |88x05=40+4]0 [|88x05=44|0
88x06=48+48 [88x06=48+4|8 [88x06=52|8
88x07=56+56] [88x07=56+5|6|] [(88x07=61]6
88x08=64+64| |88x08=64+6J4 |88x08=70}4
88x09=72+72| [|88x0972+7|2] |88x09=79|2
88x10=80+80] [88x10=80+8|0] |88x10=|838|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
88x01=088 88x06=528
88x02=176 88x07=616
88x03=264 88x08=704
88x04=352 &88x09=792
88x05=440 88x10=880

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 88 !




Do It Yourself'!

Table of 83

Table of 8 b\S Z/i Table of 8

Step 1: Number "88" contains digit "8" & "8" so write the Table of "8" on Left and Table of "8" on Right

Tableof 8, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
88x01= + 88x014 + 88x01=
88x02= + 88x024 + 88x02=
88x03= + 88x03= + 88x03=
88x04=  + 88x04= + 88x04=
88x05= + 88x05= + 88x05=
88x06=  + 88x06= + 88x06=
88x07= + 88x07H + 88x07=
88x08=  + 88x08= + 88x08=
88x09=  + 88x09= + 88x09=
88x10= + 88x 105 + 88x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

88x01=
88x02=
88x03=
88x04=
88x05=

88x06=
88x07=
88x08=
88x09=
88x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 88 !




Do It Yourself'!

Table of 83

. 588




Table of 89

Table of 8 ‘_\S Z/A Table of 9

0 81 6

2 4

4 0 0

4 8|5 6

6 4|7 2

9 2 7(3 6/45

8 0 5

416 3|7 2(8 1|9 0

Step 1: Number "89" contains digit "8" & "9" so write the Table of "8" on Left and Table of "9" on Right

Table of 8

Table of 9

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

89x01=08+09] |89x01=08+0[9] [89x01=0 8|9
89x02=16+18 [89x02=16+1|8 [89x02=178
89x03=24+27 89x03=24+2(7] [(89x03=26]|7
89x04=32+36] |89x04=32+3|6|] [(89x04=35]6
89x05=40+45 89x0540+4f5 |89x05=44|5
89x06=48+54| |89x06=48+54 |89x06=|53}4
89x07=56+63] |89x07H56+6[3] [89x07=62|3
89x08=64+72] |89x08=64+7|2| [89x08=71|2
89x09=72+81 89x09=72+38|l1 89x09=80]1
89x10=80+90] [89x10=80+9|0] |89x10=89]0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
89x01=089 89x06=534
89x02=178 89x07=623
89x03=267 89x08=712
89x04=356 89x09=801
89x05=445 89x10=890

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 89 !




Do It Yourself'!

Table of 89

Table of 8 ‘_\S Z/A Table of 9

Step 1: Number "89" contains digit "8" & "9" so write the Table of "8" on Left and Table of "9" on Right

Tableof 8, g; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
89x01= + 89x014 + 89x01=
89x02= + 89x02= + 89x02=
89x03= + 89x03= + 89x03=
89x04= + 89x04= + 89x04=
89x05= + 89x05= + 89x05=
89x06= + 89x06= + 89x06=
89x07= + 89x07H + 89x07=
89x08= + 89x08= + 89x08=
89x09=  + 89x09= + 89x09=
89x10= + 89x105H + 89x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

89x01=
89x02=
89x03=
89x04=
89x05=

89x06=
89x07=
89x08=
89x09=
89x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 89 !




Do It Yourself'!

Table of 89

. 589 .




Table of 90

Table of 9 ‘_\S Z/i Table of O

0911 8

27

4 5 0

5416 3

7 218 1

0 001000 0

90 0

00 0]0 0(0 00 O

Step 1: Number "90" contains digit "9" & "0" so write the Table of "9" on Left and Table of "0" on Right

Table of 9

Table of O

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

90x01=09+00] 90x01=09+0J0] 90x01=09]0
90x02=18+00] 90x02=18+0[0] 90x02=|1 8|0
90x03=27+00] 90x03=27+0]0] 90x03=27{0
90x04=36+00] 90x04=36+0J0] [90x04=3 6|0
90x05=45+00] 90x05=45+0]0| |90x05=45|0
90x06=54+00] 90x06=54+0J0] 90x06=54{0
90x07=63+00] 90x07=63+0]0] [90x07=63|0
90x08=72+00] |90x08=72+0J0] [90x08=72{0
90x09=81+00] |90x09=81+0J0] 90x09=31{0
90x10=90+00] 90x10=90+0J0] 90x10=90{0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
90x01=090 90x06=540
90x02=180 90x07=630
90x03=270 90x08=720
90x04=360 90x09=810
90x05=450 90x10=900

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 90 !




Do It Yourself'!

Table of 90

Table of 9 bJ Z/i Table of O

Step 1: Number "90" contains digit "9" & "0" so write the Table of "9" on Left and Table of "0" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
90x01= + 00x014H + 90x01=
90x02= + 90x02= + 00x02=
90x03= + 00x034 + 90x03=
90x04= + 900x04= + 90x04=
90x05= + 90x055 + 90x05=
900x06= + 00x064 + 90x06=
90x07= + 00x07H + 90x07=
90x08= + 00x08= + 90x08=
90x09=  + 00x094 + 90x09=
90x10= + 00x104H + 90x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

90x01=
90x02=
90x03=
90x04=
90x05=

90x06=
90x07=
90x08=
90x09=
90x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 90 !




Do It Yourself'!

Table of 90

590, .




Table of 91

M

0911 8 27 4 5 01 0 310 4]0 5

5416 3|7 2(8 1|90 0607080910

Step 1: Number "91" contains digit "9" & "1" so write the Table of "9" on Left and Table of "1" on Right

Table of 1 Box with

Tl e W st Ao

91x01=09+01 91x01=09+0}]1 91x01=09]1
91x02=18+02 91x02=18+0|2 91x02=1 8|2
91x03=27+03 91x03=27+0|3 91x03=27|3
91x04=36+04 91x04=36+0}4 91x04=36|4
91x05=45+05 91x05=45+0]|5 91x05=45|5
91x06=54+06 91x06=54+0}6 91x06=54|6
91x07=63+07 91x07=63+0}|7 91x07=6 3|/
91x08=72+08 91x08=72+0|8 91x08=72|8
91x09=81+09 91x09=81+0|9 91x09=81]9
91x10=90+10 91x10=90+1]0 91x10=9 1|0
Werite in TiranpTible Format Draw a box wi*j:if):\plefe left side  Write the rzzﬂzﬁer adding
& insert "+ sign between them digits & only 1 digit from right side the numbers in box

91x01=091 91x06=546

91x02=182 91x07=637 /\/\
91x03=273 91x08=728
Suffix the digit remaining outside the

91x04=364 91x09=819 box to the result
And finally you have the TABLE of 91!
91x05=455 91x10=910




Table of 91

Table of 9 bJ Z/i Table of 1

Step 1: Number "91" contains digit "9" & "1" so write the Table of "9" on Left and Table of "1" on Right

Table of 1 Box with

U aowiEn e\ medecasior]
91x01= + 91x015 + 91x01=
91x02= + 91x02F + 01x02=
91x03= + 91x035 + 91x03=
91x04= + 91x04= + 91x04=
91x05= + 91x055 + 91x05=
91x06= + 91x06= + 91x06=
91x07= + 91x07H + 91x07=
91x08= + 91x08= + 91x08=
91x09=  + 91x09+ + 91x09=
91x10= + 91x10H + 91x10=

Step 2 Step 3 Step 4
Write in Times Table Format Draw a box with complete left side  Write the result after adding
& insert "+ sign between them digits & only 1 digit from right side the numbers in box
91x01= 91x06=

91x02= 91x07= M
91x03= 91x08=
Suffix the digit remaining outside the

91XO4: 91X09: box to the result.

And finally you have the TABLE of 91!
91x05= 91x10=




Do It Yourself'!

Table of 91

M




Table of 92

Table of 9 ‘_\S Z/A Table of 2

0911 8|2 7

4 5

5416 3|7 2

8 1

0 2

060 8|1 0

90

1 2

1 4/1 6|1 8/2 0

Step 1: Number "92" contains digit "9" & "2" so write the Table of "9" on Left and Table of "2" on Right

Table of 2

Box

with

U] I e oo
92x01=09+02 92x01=09+0]2 92x01-=009|2
92x02=18+04 92x02=18+0}|4 92x02-1 g4
92x03=27+06 92x03=27+0|6 92x03=27]6
92x04=36+08 92x04=36+0|8 92x04-36|38
92x05=45+10 92x05=45+1]0 92 x05=4 6|0
902x06=54+12 92x06=54+1]2 92x06=|55]|2
92x07=63+14 92x07=63+1|4 92x07=64|4
902x0&8=72+16 92x08=72+1]6 902x08=73l6
92x09=81+18 92x09=81+ 1|8 92x09=8 2|8
92x10=90+20 92x10=90+2]0 92x 10920

Step 2 Step 3 Step 4

Werite in Times Table Format
& insert "+"

sign between them

92x01=092
92x02=184
92x03=276
92x04=3638

92x05=460

92x06=552
92x07=644
92x08=736
92x09=828

92x10=920

Draw a box with complete left side
digits & only 1 digit from right side

the humbers in box

Write the result after adding

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 92!




Do It Yourself'!

Table of 92

Table of 9 bJ Z/i Table of 2

Step 1: Number "92" contains digit "9" & "2" so write the Table of "9" on Left and Table of "2" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
92x01= + 92x015 + 92x01=
92x02= + 92x02= + 02x02=
92x03= + 92x035 + 92x03=
92x04= + 92x04= + 92x04=
92x05= + 92x055 + 92x05=
92x06= + 92x06= + 92x06=
92x07= + 92x07 + 92x07=
92x08= + 92x08= + 92x08=
92x09=  + 92x09= + 92x09=
902x10= + 902x104H + 92x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

92x01=
92x02=
92x03=
92x04=
92x05=

902x06=
92x07=
02x08=
92x09=
92x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 92!




Do It Yourself'!

Table of 92

522




Table of 93

PRLL /N

0911 8

2 7

4 5 0 3 0911 2|15

5416 3

7 218 1

90 1 82 1|2 412 7|30

Step 1: Number "93" contains digit "9" & "3" so write the Table of "9" on Left and Table of "3" on Right

Table of 3

Box with

U] I, e oo
93x01=09+03 03x01509+ 93x01-09
93x02=18+06 93x02=18&8+ 93x02-18
93x03=27+09 93x03=27+ 93x03=27
93x04=36+12 93x04=36+ 93x04=37
93x05=45+15 93x05=45+ 93x05=46
93x06=54+18 903x06=54+ 93x06=55
93x07=63+21 93x07=63+ 93x07=65
93x08=72+24 93x0&8=72+ 93x08=74
93x09=81+27 93x09=81+ 93x09=|83
93x10=90+30 03x10=90+ 93x10-93

Step 2 Step 3 Step 4
Write in Times Table Format Draw a box with complete left side Write the result after adding
& insert “+" sign between them digits & only 1 digit from right side the numbers in box
93x01=093 93x06=558%

93x02=186
93x03=279
93x04=372
93x05=465

93x07=651 M
93x08=744

Suffix the digit remaining outside the

9 3 X O 9 = 8 3 7 box to the result.
93x10=930

And finally you have the TABLE of 93!




Do It Yourself'!

Table of 93

Table of 9 bJ Z/i Table of 3

Step 1: Number "93" contains digit "9" & "3" so write the Table of "9" on Left and Table of "3" on Right

Table of &, ; :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
93x01= + 93x015 + 93x01=
93x02= + 93x02F + 03x02=
93x03=+ 93x035 + 93x03=
93x04= + 93x04= + 93x04=
93x05= + 93x05 + 93x05=
93x06= + 93x06= + 93x06=
93x07= + 93x07= + 93x07=
93x08= + 93x08= + 93x08=
93x09= + 93x09+ + 93x09=
93x10=  + 93x105 + 93x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

93x01=
93x02=
93x03=
93x04=
93x05=

93x06=
93x07=
93x08=
93x09=
93x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 93!




Do It Yourself'!

Table of 93

593




Table of 94

PR/

0911 8

2 7

4 5 0

5416 3

7 218 1

= 1 211 6{2 0

90 2

412 813 213 6(3 0

Step 1: Number "94" contains digit "9" & "4" so write the Table of "9" on Left and Table of "4" on Right

Table of 9

Table of 4

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

94x01=09+04] [94x01=09+0}4| |94x01=09}4
94x02=18+08 [94x02=18+0]8 [94x02=1 8|8
94x03=27+12] [94x03=27+1]2| |94x03=28|2
94x04=36+16] [94x04=36+1|6|] 94x04=37|6
94x05=45+20] [94x05=45+2|0| |94x05=470
94x06=54+24] [94x06=54+2|4| |94x06=5 64
94x07=63+28 [94x07=H63+2|8 [94x07=635|8
94x08=72+32] 94x08=72+3|2] [(94x08=75|2
94x09=81+36] 94x09=81+3|6|] [94x09=84|6
94x10=90+40] |94x10=90+4{0] 94x10=94|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
94x01=094 94x06=564
94x02=188 94x07=658
94x03=282 94x08=752
94x04=376 94x09=846
94x05=470 94x10=940

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 94 !




Do It Yourself'!

Table of 94

Table of 9 bJ Z/i Table of 4

Step 1: Number "94" contains digit "9" & "4" so write the Table of "9" on Left and Table of "4" on Right

Table of 3, g :able ot ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
94x01= + 94x015 + 94x01=
94x02= + 904x02 + 94x02=
94x03= + 94x03= + 94x03=
94x04= + 94x04= + 94x04=
94x05= + 94x055 + 94x05=
94x06= + 94x06= + 94x06=
94x07= + 904x07F + 94x07=
94x08= + 94x08= + 94x08=
94x09=  + 94x09= + 94x09=
94x10= + 94105 + 94x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

94x01=
94x02=
94x03=
94x04=
94x05=

94x06=
94x07=
04x08=
94x09=
94x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 94 !




Do It Yourself'!

Table of 94

598




Table of 95

PR/

0911 8

2 7

4 5 0

5416 3

7 218 1

5 1 5(2 0(2 5

90 3

03 5/40(4 5[50

Step 1: Number "95" contains digit "9" & "5" so write the Table of "9" on Left and Table of "5" on Right

Table of 9

Table of

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

05x01=09+05 [95x01=H09+0]5] [95x01=09|5
05x02=18+10] |95x02=18+1J0] 95x02=19]0
05x03=27+15 [95x03=27+1|5| |95x03=28|5
05x04=36+20] [95x04=36+2|0] |95x04=3 8|0
05x05=45+25 [95x05=45+2|5| 95x05=47|5
05x06=54+30] [95x06=54+3]0] |195x06=57|0
905x07=63+35 [95x07=63+3|5| (95x07=66|5
05x08=72+40] |95x08=72+4|0] 95x08=]76|0
05x09=81+45 95x09=81+4|5 [95x09=85|5
05x10=90+50[ |95x10=90+5]0] [95x10=9 5{0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
95x01=095 95x06=570
95x02=190 95x07=665
95x03=285 95x08=760
95x04=380 95x09=855
95x05=475 95x10=950

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 95!




Do It Yourself'!

Table of 95

Table of 9 ‘_\S Z/A Table of 5

Step 1: Number "95" contains digit "9" & "5" so write the Table of "9" on Left and Table of "5" on Right

Table of 9

Table of

LT

Box with

ALL digits of left side
& ONE digit of right side

\

Add the digits
inside the dark box

}

95x01=
95x02=
05x03=
95x04=
95x05=
95x06=
95x07=
95x08=
95x09=
95x10=

+

+ + + + + + + 4+ +

05x014H + 95x01=
95x024 + 95x02=
95x03F + 95x03=
905x04 + 905x04=
905x054 + 05x05=
95x06= + 95x06=
05x07H + 95x07=
05x084 + 95x08=
95x09= + 95x09=
05x10H + 95x10=

Step 2
Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Step 3 Step 4
Write the result after adding

the humbers in box

95x01=
95x02=
95x03=
95x04=
95x05=

905x06=
95x07=
05x08=
905x09=
95x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 95!




Do It Yourself'!

Table of 95

S99 .




Table of 96

396

0911 8

2 7

4 5 0

5416 3

7 218 1

6 1 8/2 4|3 0

90 3

64 214 8|5 4|6 0

Step 1: Number "96" contains digit "9" & "6" so write the Table of "9" on Left and Table of "6" on Right

Table of 9

Table of 6

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

96x01=09+06] 96x01=09+0l6|] [96x01=009|6
96x02=18+12] 96x02=18+1J2] [96x02=]19|2
96x03=27+18 [96x03=27+1|8 [96x03=28|8
96x04=36+24] 96x04=36+2|4 |96x04=3 8|4
96x05=45+30] [96x05=45+3]0] |96x05=48|0
96x06=54+36] 96x06=54+3|6|] 96x06=57|6
96x07=63+42] 96x07=63+4)2] 96x07=67|2
06x08=72+48 96x08=72+4|8] [96x0&8=76[8
96x09=81+54] 96x09=81+54 [(96x09=|386}4
96x10=90+60] 96x10=90+6[0] 96x10=96[0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
96x01=096 96x06=576
96x02=192 96x07=672
96x03=288 96x08=768
96x04=384 96x09=864
96x05=480 96x10=960

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 96 !




Do It Yourself'!

Table of 96

Table of 9 ‘_\S Z/A Table of 6

Step 1: Number "96" contains digit "9" & "6" so write the Table of "9" on Left and Table of "6" on Right

Table of @, g :able ore ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
96x01= + 06x014 + 96x01=
96x02= + 96x02= + 06x02=
96x03= + 96x03= + 96x03=
96x04= + 96x04= + 96x04=
96x05= + 906x05= + 96x05=
96x06= + 96x06= + 96x06=
96x07= + 06x075 + 96x07=
906x08= + 906x08= + 96x08=
96x09= + 906x09= + 96x09=
96x10= + 96x10= + 96x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

96x01=
96x02=
96x03=
96x04=
96x05=

96x06=
96x07=
96x08=
96x09=
96x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 96 !




Do It Yourself'!

Table of 96

. 596 .




Table of 97

PR/

0911 8

2 7

4 5 0

5416 3

7 218 1

711 412 1|12 8|3 5

90 -

214 9/56(6 3|/70

Step 1: Number "97" contains digit "9" & "7" so write the Table of "9" on Left and Table of “7" on Right

Table of 9

Table of 7

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

97x01=09+07, [97x01=09+0]7f |97x01=09]7
07x02=18+14] 97x02=18+1|4 (97x02=19}4
07x03=27+21] 97x03=27+2|1] [97x03=29|1
07x04=36+28 [97x04=36+2|8 |97x04=3 8|8
97x05=45+35 [97x05=45+3|5| (97x05=48|5
07x06=54+42] 97x06=54+4]2| |97x06=5 §|2
97x07=63+49| 97x07=63+4|9] 97x07=67|9
07x08=72+56] 97x08=72+5|6] [(97x08=77|6
07x09=81+63] 97x09=81+6|3] [97x09=87|3
97x10=90+70 97x10=90+7]0] 97x10=97|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
97x01=097 97x06=582
97x02=194 97x07=679
97x03=291 97x08=776
97x04=388 97x09=873
97x05=485 97x10=970

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 97 !




Do It Yourself'!

Table of 97

Table of 9 b\S Z/i Table of 7

Step 1: Number "97" contains digit "9" & "7" so write the Table of "9" on Left and Table of “7" on Right

Table of @, g :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
97x01= + 07x015 + 07x01=
907x02= + 97x02= + 07x02=
07x03= + 97x03= + 97x03=
97x04= + 97x04= + 97x04=
07x05= + 97x055 + 07x05=
97x06=  + 907x06= + 97x06=
07x07= + 07x07F + 97x07=
07x08= + 97x08= + 97x08=
97x09= + 97x09= + 97x09=
07x10= + 07x104H + 97x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

97x01=
97x02=
97x03=
97x04=
97x05=

907x06=
97x07=
07x08=
07x09=
97x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 97 !




Do It Yourself'!

Table of 97

97




Table of 93

Table of 9 ‘_\S Z/A Table of 8

0911 8

27

4 5 0

5416 3

7 218 1

8 2 4/32/40

90 -

815 6/6 4|7 2|8 0

Step 1: Number "98" contains digit "9" & "8" so write the Table of "9" on Left and Table of “8" on Right

Table of 9

Table of 8

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

98x01=09+08 98x01=09+0f8 98x01=09]8
08x02=18+16] 98x02=18+1|6] [98x02=109|6
08x03=27+24] |98x03=27+2|4 (98x03=29}4
08x04=36+32] [98x04=36+3]2| |98x04=39)2
08x05=45+40] [98x05=45+4{0] |98x05=49|0
08x06=54+48 [98x06=54+4|8 [98x06=5 8|8
98x07=63+56] [98x07=63+5|6| |98x07=68|6
08x08=72+64] |98x08=72+6f4 98x08=|738|4
08x09=81+72] 198x09=81+7|2] [98x09=|3 8|2
08x10=90+80] 98x10=90+8|0] 98x10=9 8|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
98x01=098 98x06=588
98x02=196 98x07=686
98x03=294 98x08=784
98x04=392 98x09=882
98x05=490 98x10=980

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 98 !




Do It Yourself'!

Table of 93

Table of 9 ‘_\S Z/A Table of 8

Step 1: Number "98" contains digit "9" & "8" so write the Table of "9" on Left and Table of “8" on Right

Table of @, g :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
98x01= + 08x014 + 98x01=
98x02= + 98x02= + 08x02=
98x03= + 98x035 + 98x03=
98x04= + 98x04= + 98x04=
98x05= + 98x05 + 98x05=
98x06= + 98x06= + 98x06=
98x07= + 08x07H + 98x07=
08x08= + 98x08= + 98x08=
98x09= + 98x09= + 98x09=
08x10= + 98x10= + 98x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

98x01=
98x02=
98x03=
98x04=
98x05=

98x06=
98x07=
98x08=
98x09=
98x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 98 !




Do It Yourself'!

Table of 93

598




Table of 99

PR L/

0911 8

2 7

4 5 0

5416 3

7 218 1

9 2 7(3 6/45

90 5

416 3|7 2(8 1|9 0

Step 1: Number "99" contains digit "9" & "9" so write the Table of "9" on Left and Table of "9" on Right

Table of 9

Table of 9

LT

Box with
ALL digits of left side
& ONE digit of right side

Add the digits
inside the dark box

\ }

99x01=09+09] 99x01=09+0[9] [99x01=009]9
99x02=18+18 99x02=18+1I8 [99x02=19]8
990x03=27+27 99x03=27+2|7] [(99x03=209|7
99x04=36+36] [99x04=36+3|6|] 99x04=39|6
99x05=45+45 99x05=45+4{5| 99x05=49|5
99x06=54+54] 99x06=54+54 99x06=59}4
99x07=63+63] [99x07=63+6{3] |99x07=69|3
990x08=72+72] 99x08=72+7|2] [(99x08=79|2
99x09=81+81] [99x09=81+8|l|] [99x09=39]1
99x10=90+90] 99x10=90+9J0] 99x10=99|0
Step 2 Step 3 Step 4

Werite in Times Table Format

Draw a box with complete left side

Write the result after adding
the numbers in box

& insert "+" sign between them digits & only 1 digit from right side
99x01=099 99x06=594
99x02=198 99x07=693
99x03=297 99x08=792
99x04=396 99x09=891
99x05=495 99x10=990

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 99 !




Do It Yourself'!

Table of 99

Table of 9 ‘_\S Z/A Table of 9

Step 1: Number "99" contains digit "9" & "9" so write the Table of "9" on Left and Table of "9" on Right

Table of @, g :able o ALL digits of lBeofi vsv.l;:, Add the digits

l 19 l &ONE&;Tﬁr@MsMe\ imweﬂwdwkMxl
99x01= + 99x015 + 99x01=
99x02= + 99x02= + 00x(02=
99x03= + 99x035 + 99x03=
99x04= + 99x04= + 99x04=
99x05= + 99x05 + 99x05=
99x06= + 99x06= + 99x06=
99x07= + 99x07= + 99x07=
99x08= + 99x08= + 99x08=
99x09=  + 99x09= + 99x09=
99x10= + 99x10= + 99x10=
Step 2 Step 3 Step 4

Werite in Times Table Format

& insert "+" sign between them

Draw a box with complete left side
digits & only 1 digit from right side

Write the result after adding
the numbers in box

99x01=
99x02=
99x03=
99x04=
99x05=

99x06=
99x07=
99x08=
99x09=
99x10=

N

Suffix the digit remaining outside the
box to the result.
And finally you have the TABLE of 99 !




Do It Yourself'!

Table of 99

S99 .




Mental
Multiplication




How to Solve it Mentally

- 35x 8

-

Q)

" 5222
/-\ Step1: Imagine

3 Take 1st Digit & Multiply it by 8: 3x8=24
3 5 X 8 Take 2nd Digit & Multiply it by 8: 5x8=40

N

+C9: A.Q

Step2: Now you have two numbers

o

You have to convert these 4 digits into 3 digit

Step 3: Close your Eyes & Add
24+4 ~
&

24 &40

Add First Number with First Digit of Second Number

The Answer




Do It Yourself'!

(01

30 x 6 =

(02)

63 x4 =

(03)

75 X 2 =

(04)

34 x 3 =

(05)

44 x O

(06)

11 X6 =

(07)

O1 x5 =

(08)

59 x 7 =

(09)

78 X 5 =

(10)

69 x 2 =

(11)

70 x 7 =




Do It Yourself'!

(12)

02 x9

(13)

13x 3

(14)

20x 7 =

(15)

39 x 8 =

(16)

28 x 8 =

(17)

O3 x4 =

(18)

32 x 5 =

(19)

O1 x 8 =

(20)

04 X 6 =

21)

33 x 2 =

(22)

B3 x4 =




Do It Yourself'!

(23)

02 x 4 =

24)

29 x 7 =

(25)

25x 3 =

(26)

23 X 06 =

27)

61 x9 =

(28)

55 x 3 =

(29)

41 x9 =

(30)

99 x 7 =

€2y

460 x 2 =

(32)

23 x 4 =

(33)

82 x 8 =




Do It Yourself'!

(34)

03 x 7 =

(35)

43 x 7 =

(36)

31 x3 =

(37)

36 x 5 =

(38)

19x 3

(39)

O3 x4 =

(40)

77 X 5 =

(41)

64 x 9 =

(42)

23 x9 =

(43)

606 x 6 =

(44)

20 x 5 =




Do It Yourself'!

(45)

22x 2 =

(46)

60 x 7 =

(47)

02 x 3 =

(48)

O3 x 5 =

(49)

17 X 6 =

(50)

33 x4 =

D

29 x 8 =

(52)

70 x 5 =

(33)

83 x9 =

(54)

21 x4 =

(35)

38 x 6 =




Do It Yourself'!

(56)

20x 5 =

(57)

81 x4 =

(58)

59 x 6 =

(39)

67 x 8 =

(60)

860 x 4 =

(61)

96 x 5 =

(62)

74 X 5 =

(63)

80 x 2 =

(64)

25 x 4 =

(65)

46 x 2 =

(66)

50 x 6 =




Do It Yourself'!

(67)

58 x 5 =

(68)

57 x 5 =

(69)

385 x 9 =

(70)

80 x 7 =

(71)

89 x 2 =

(72)

24 x 5 =

(73)

96 x 3 =

(74)

B4 x 2 =

(75)

O4 x 7 =

(76)

33 x9 =

(77)

68 x 6 =




Do It Yourself'!

(78)

57 x 5 =

(79)

19 x 8 =

(80)

42 x 3 =

(81)

20 X 4 =

(82)

46 X 5 =

(83)

47 X 8 =

(84)

609 x 3 =

(85)

71 X 8 =

(86)

61 x 8 =

(87)

60 x 5 =

(88)

72 X 5 =




Do It Yourself'!

(89)

55 x 8 =

(90)

21 x5 =

o1

27 X 6 =

(92)

78 X 9 =

(93)

60 x 6 =

94)

32 x 3 =

95)

78 X 3 =

(96)

90 x 6 =

o7

27 X 7 =

(98)

79 X 3 =

(99)

44 x O =




Answers !

(01). 180
(02). 252
(03). 150
(04). 102
(05). 396
(06). 66

(07). 455
(08). 413
(09). 390
(10). 138
(11). 490
(12). 828
(13). 39

(14). 140
(15). 312
(16). 224
(17). 372
(18). 160
(19). 728
(20). 564
(21). 66

(22). 212
(23). 368
(24). 203
(25). 75

(26). 138
(27). 549
(28). 165
(29). 369
(30). 693
(31). 92

(32). 92

(33). 656

(34). 651
(35). 301
(36). 93

(37). 180
(38). 57

(39). 372
(40). 385
(41). 576
(42). 207
(43). 396
(44). 130
(45). 44

(46). 420
(47). 276
(48). 465
(49). 102
(50). 132
(51). 232
(52). 350
(53). 747
(54). 84

(55). 228
(56). 100
(57). 324
(58). 354
(59). 536
(60). 344
(61). 480
(62). 370
(63). 160
(64). 100
(65). 92

(66). 300

(67). 290
(68). 285
(69). 765
(70). 560
(71). 178
(72). 120
(73). 288
(74). 108
(75). 658
(76). 297
(77). 408
(78). 285
(79). 152
(80). 126
(81). 104
(82). 230
(83). 376
(84). 207
(85). 568
(86). 488
(87). 300
(88). 360
(89). 440
(90). 105
(91). 162
(92). 702
(93). 360
(94). 96

(95). 234
(96). 540
(97). 189
(98). 237
(99). 396






